UGC NET 2021 Adult Education CE Andragogy NFE

Topic:- New_46AE_A

1) 'Spare time Education’ is an important means of raising political, educational and technical levels of masses and was
implemented by :

srfafess a7 frar M & Tadifas, 4T3 i asdid TqTFT ST ISTH FT AGALU ATSTAA § THART FTATa AT FHAT TAT 9T

[Question ID = 2301][Question Description = S2_qSNz_PG_ADE_QO01]
. China/== g [Option ID = 9201]

USSR/Z.T&.TH. A<, 510 [Option ID = 9202]

Cuba /74T 31T [Option ID = 9203]

Vietnam/fa=a= 31T [Option ID = 9204]

A WwWN =

Correct Answer :-

e China/=19 3T [Option ID = 9201]

2) One of the few adult educators to tackle directly, the problem of explaining why socio-economic status and participation
in adult education are inevitably related, is:

% farert & aarTids waT T wfasriiar afvard €7 @ #7947 2 €, T/ TIE I A GHEAT FT T A FA 77 1K
frarafEaid @ s g -

[Question ID = 2302][Question Description = S2_qSNz_PG_ADE_QO02]
1. Harry L. Miller/&<T uer féee [Option ID = 9205]

2. Maslow/&%T [Option ID = 9206]

3. Lewis/=fa® [Option ID = 9207]

4. Pavlov/¥==T [Option ID = 9208]

Correct Answer :-
e Harry L. Miller/z=<t uer f= [Option ID = 9205]

3) The recommendation for one year compulsory National Service for Secondary Students was made by:

TTeafys Ty & FTAT 3 e us g Y srfaard v aar 7 Rrerfea $y ag 9% .

[Question ID = 2303][Question Description = S2_qSNz_PG_ADE_Q03]
1. Kothari Committee on Education/#T=T<T farear wifafar [Option ID = 9209]

2. Committee on New Educational Policy/a% farerr ifa &rfafa [Option ID = 9210]

3. C. D. Deshmukh Committee/&T. €T. Ter@ wfAfT [Option ID = 9211]

4. Rama Murthy Committee/¥magft afffa [Option ID = 9212]

Correct Answer :-
e Kothari Committee on Education/®I=T<T farar afafa [Option ID = 9209]

4) Expand the 'WILL'

'WILL' %7 feeqa €7 7 @ :

[Question ID = 2304][Question Description = S2_qSNz_PG_ADE_QO04]
1. World Initiative on Lifelong Learning/as sfRfarufea swe arewherivr afe

[Option ID = 9213]
2. World Institutions on Lifelong Learning/aes fRes]ei® s ATSHATT FAfwT

[Option ID = 9214]
3. World of International Lifelong Learners/a=s AT 23T ATSHATT AXH

[Option ID = 9215]
4. World of Institutions on Lifelong Learning/@s 3T eI eI H3T ATSHATT ATT

[Option ID = 9216]

Correct Answer :-

e World Initiative on Lifelong Learning/a<< zfaforufes sma srgwherr e
[Option ID = 9213]

5) In 2007, Indian Literacy rate grew by



2007 ® WTIT qTEIAT T T8 7T

[Question ID = 2305][Question Description = S2_qSNz_PG_ADE_QO05]
1. 75%

[Option ID = 9217]
2. 59%

[Option ID = 9218]
3. 66%

[Option ID = 9219]
4. 86%

[Option ID = 9220]
Correct Answer :-
o 75%

[Option ID = 9217]

6) The process of education cannot be classified into one of the following :

farar % wiwrar Mafafeg 9 @ fFas groa afigaad A sTasdt g -

[Question ID = 2306][Question Description = S2_qSNz_PG_ADE_QO06]
1. Formal education/zra=fie forar

[Option ID = 9221]
2. Informal education/s=a=iea fora

[Option ID = 9222]
3. Non-formal education/#% =i forer

[Option ID = 9223]
4. Special education/fa9r farerr

[Option ID = 9224]

Correct Answer :-

e Formal education/sira=fa farer
[Option ID = 9221]

7) Which one of the following is NOT known as a part of learning?

frafrfegd @ FFasT AfITa $ T FCR aH ATATATATE ?

[Question ID = 2307][Question Description = S2_qSNz_PG_ADE_QO07]
1. To know/STTHAT

[Option ID = 9225]
2. To do/=xAT

[Option ID = 9226]
3. To see/3@AT

[Option ID = 9227]
4. To live together/|T - AT TZAT

[Option ID = 9228]
Correct Answer :-
® To know/SITH+T

[Option ID = 9225]

8) Pedagogy of the Oppressed is a very famous work of which one of the following educators?

Icftfeat &1 frer arar 1w wfvg gEas faufafeas @ @ fea Rraramai #5782

[Question ID = 2308][Question Description = S2_qSNz_PG_ADE_QO08]
1. Paulo Freire/T=T %TaT

[Option ID = 9229]
2. Pereira Paiva/TeT =T

[Option ID = 9230]
3. Ivan Illich/zam o=

[Option ID = 9231]



4. Malcolm Knowles/&ersw Tee
[Option ID = 9232]

Correct Answer :-

e Paulo Freire/dTeT <

[Option ID = 9229]

9) The objectives of National Adult Education Programme (NAEP) were NOT to:

THT ate et s1dfw (qa.w.E.91.) & seeat &t Al arfae o7 -

[Question ID = 2309][Question Description = S2_qSNz_PG_ADE_Q09]
1. Impart literacy and numeracy skills/HTEedT sfiT HeaTens Fiere! FT A9

[Option ID = 9233]
2. Promote functional skills/fFaTeae iorelt T TredTET

[Option ID = 9234]
3. Raise the level of social awareness/aTHSF STR=FAT & T< HT ITa

[Option ID = 9235]
4. Provide employment to the adult population/TZ STETET T TISHITT ST FLTAT

[Option ID = 9236]

Correct Answer :-
e |mpart literacy and numeracy skills/AT&¥aT 3T HeaTeqs Frerat &7 [F9g

[Option ID = 9233]

10) Who emphasized that 'So long as the millions live in hunger and ignorance, | hold every man a traitor who, having being
educated at their expense, pays not the least heed to them.'?

Fad za aeg 9T I Xar ¥ o7 a5 q1Et AT @ ATAFAATS I AT ATT TR T, TTIF 4 Teds g ATF® F T
TAXIGT ATAAT § Rraa IaaT Fraq 9 farer a1 @ veq S ux faaga eqra agiaan g .

[Question ID = 2310][Question Description = S2_qSNz_PG_ADE_Q10]
1. Sri Aurobindo/=ft srefaim

[Option ID = 9237]
2. Swami Dayanand/@THT gaT9==

[Option ID = 9238]
3. Vivekananda/fFrasm=

[Option ID = 9239]
4. M. K. Gandhi/ta. &. et

[Option ID = 9240]
Correct Answer :-
e Sri Aurobindo/=T sxfa=
[Option ID = 9237]

11) What is knowledge?

FTTFATE ?

[Question ID = 2311][Question Description = S2_qSNz_PG_ADE_Q11]
1. Content related to life/Sfraw & wFag famaaeg

[Option ID = 9241]
2. Information that is learned and accepted /=T ST #ET ¥ &= T 1T §

[Option ID = 9242]
3. Skill provided by a teacher/farers g1 Wa=t FiarT

[Option ID = 9243]
4. Data/#i#s

[Option ID = 9244]

Correct Answer :-

e Content related to life/sfta & F¥g oy
[Option ID = 9241]

12) The National Literacy Mission was launched in the year-



T FreTar fHaT 1t s % -

[Question ID = 2312][Question Description = S2_qSNz_PG_ADE_Q12]
1. 1976

[Option ID = 9245]
2. 1984

[Option ID = 9246]
3. 1988

[Option ID = 9247]
4. 1986

[Option ID = 9248]
Correct Answer :-
e 1976

[Option ID = 9245]

13) Worldwide data on nations indicates an extremely high correlation between literacy rates and

Trgt ux Rrasrdt srwst afy afve dag zafar § arawar st -

[Question ID = 2313][Question Description = S2_qSNz_PG_ADE_Q13]
1. Sensex/IHTaT & H=

[Option ID = 9249]
2. Per Capita GDP/%ft =af<f @&e A IS & =

[Option ID = 9250]
3. Share Market/9< aTee & ==

[Option ID = 9251]
4. Health/zmesT & fi=r

[Option ID = 9252]
Correct Answer :-
e Sensex/HTH F A1
[Option ID = 9249]

14) What is the elaboration of "bcc” in an email?

TF € AT 'bec’ FTRATGITTE -

[Question ID = 2314][Question Description = S2_qSNz_PG_ADE_Q14]
1. Blind Carbon Copy/=TE Ta FidT

[Option ID = 9253]
2. Blank Carbon Copy/=® Ta T

[Option ID = 9254]
3. Both 1 and 2/(1) ¥ (2) &=t

[Option ID = 9255]
4. Blank Conceded Copy/=# F=ifs Hitr

[Option ID = 9256]

Correct Answer :-

e Blind Carbon Copy/=ATEE FTa= HIUT
[Option ID = 9253]

15) CD-ROM stands for:

ST -qQuawT i g :

[Question ID = 2315][Question Description = S2_qSNz_PG_ADE_Q15]
1. Compact Read Only Memory/#Teree {2 siqel FHET

[Option ID = 9257]
2. Compact Data Read Only Memory/®TFi#e STeT 1T Sl FHET

[Option ID = 9258]
3. Compactable Disk Read Only Memory/#iuaefae fees fie sifeft F9rr

[Option ID = 9259]



4. Compact Disk Read Only Memory/# e fE+F g sifwel AHT
[Option ID = 9260]

Correct Answer :-

e Compact Read Only Memory/=Teree i sitee HET
[Option ID = 9257]

16) MOOC provides the opportunity:

ax frafafag & g raac e FLar g :

[Question ID = 2316][Question Description = S2_qSNz_PG_ADE_Q16]
1. To meet each other personally/T# ga¥ & =rfmTd &7 & e & forw

[Option ID = 9261]
2. To share ideas and knowledge /A= =¥ T &1 AT=AT 2 & o0

[Option ID = 9262]
3. To give examinations physically/ o = & wer = & o

[Option ID = 9263]
4. Tosit in a classroom together/F&Talt # AT - AT T2 & forw

[Option ID = 9264]

Correct Answer :-

e To meet each other personally/T# g&¥ & =fxmTd &7 7 fiaw & oo
[Option ID = 9261]

17) SWAYAM is a/an:

TITT (SWAYAM) § -

[Question ID = 2317][Question Description = S2_qSNz_PG_ADE_Q17]
1. Online evaluation company/#AATEH Tt FaAT

[Option ID = 9265]
2. MOOC platform/q# (Mooc) TewhiH

[Option ID = 9266]
3. Super computer/qTT FET

[Option ID = 9267]
4. Tablet/Za=rz

[Option ID = 9268]

Correct Answer :-

e Online evaluation company /T Tegiaed Ha=T
[Option ID = 9265]

18) Which one of these is NOT an advantage of a virtual classroom?

TR Q@ UFH ILAA FATHTATA AR & -

[Question ID = 2318][Question Description = S2_qSNz_PG_ADE_Q18]
1. Cost effectiveness/=Trd TaTasfIerar

[Option ID = 9269]
2. 24x7 availability/24 x 7 Iuetsgdr

[Option ID = 9270]
3. Back-up of data/sizT FT T

[Option ID = 9271]
4. Non-competence of teachers in the use of ICT resources/ATEE T HATEAT & ITANT § forersh T yeraar

[Option ID = 9272]

Correct Answer :-
e Cost effectiveness/amTa TaTaefierar

[Option ID = 9269]

19) The functions of Continuing Education Centres (CEC) could include which of the following?
A. Literacy class

B. Library/Reading room



C. Charcha Mandal
D. Equivalency programmes
E. Peer-matching

Choose the correct answer from the options given below

gaq fRrar Fg7 @ € )  wHrAt A AT arfra grawarg
A. ITHTIT FEAT

B. ATzaA <t/ fdwww

C. 9=t HEH

D. 7T FTAFH

E. g977 frara

= fag 7y fawedt & @ 9 ST HT 7 FQ ¢

[Question ID = 2319][Question Description = S2_qSNz_PG_ADE_Q19]
1. A, B, Cand D only/#a A, B, C = D

[Option ID = 9273]
2. A, C,DandEonly/Fa=T A, C, D ST E

[Option ID = 9274]
3. B,C,Dand Eonly/#a« B, C, D3fi E

[Option ID = 9275]
4. A, B, DandE only/#a< A, B, D ST E

[Option ID = 9276]

Correct Answer :-

e A B,CandDonly/Fa« A, B, C3w D
[Option ID = 9273]

20) India's first MOOC platform, launched by Prime Minister Shri Narendra Modi, is known as:

TETT A AT A% AIRT FILT LE FFHIT 7T ATIT FTIA4T 4F (Mooc) TRHTHIA 5 T § ATATATATR -

[Question ID = 2320][Question Description = S2_qSNz_PG_ADE_Q20]
1. Pratham/9&®

[Option ID = 9277]
2. Swayam/¥=aHq

[Option ID = 9278]
3. Roshni/TrerT

[Option ID = 9279]
4. Unnati/3=Ifr

[Option ID = 9280]

Correct Answer :-
® Pratham/9sHq

[Option ID = 9277]

21) E-learning does not include

g - f97 (E - learning) ® aTfywr a8t | -

[Question ID = 2321][Question Description = S2_qSNz_PG_ADE_Q21]
1. Web-based Training/a& smerfya wfareror [Option ID = 9281]

2. Online Education/f==rz farsar [Option ID = 9282]

3. Classroom Training/#F=Ta=w Tfareror [Option ID = 9283]

4. Technology-based Training/da=®1= smermtea Tforeror [Option ID = 9284]

Correct Answer :-
e Web-based Training/a smerrfaa wfareror [Option ID = 9281]

22) Which of the following is an Antivirus Software?

faafafag 9 @ st a1 ¢framawg aivedac g ?



[Question ID = 2322][Question Description = S2_qSNz_PG_ADE_Q22]
1. Yahoo/#Tg [Option ID = 9285]

2. Quickheal/f&F®gT [Option ID = 9286]

3. Google/[= [Option ID = 9287]

4. Firefox/®ma<®i [Option ID = 9288]

Correct Answer :-
® Yahoo/aTg [Option ID = 9285]

23) Responsibility to prepare Adult Education Curriculum Framework is given to:

TrE fUsaT ITsaHa & II€T 7T 3ATTHA 1 RreRarG a8 -

[Question ID = 2323][Question Description = S2_qSNz_PG_ADE_Q23]
Universities/far=afa=merai &7 [Option ID = 9289]

Department of Education/farsrr fasmr 1 [Option ID = 9290]
NCERT/w=.#t.2.3me.#1. %7 (NCERT) [Option ID = 9291]

State Resource Centre/TsT §HT4E #% T [Option ID = 9292]

A W N -

Correct Answer :-
e Universities/frafa=mert %1 [Option ID = 9289]

24) Which one of the following is NOT a model of communication?

frafafea @ 8 gF 99w w1 yfosr atea agi g -

[Question ID = 2324][Question Description = S2_qSNz_PG_ADE_Q24]
Best and Maclean Model/a= Tvg dfia @iieer [Option ID = 9293]

Berlo Model /=T wizer [Option ID = 9294]

Aristotle Model/ ¥+ At [Option ID = 9295]

Schramm Model/&w wifeer [Option ID = 9296]

A w N =

Correct Answer :-
e Best and Maclean Model/a== Tz F=fIe Hi=« [Option ID = 9293]

25) Social, economic and political justice is

grarirs, sufds sz aafifas a7 § -

[Question ID = 2325][Question Description = S2_qSNz_PG_ADE_Q25]
1. Anidea enshrined in the Preamble of the Constitution of India/aT¥a  dfaene & SzferrT & wierfug v fF=m

[Option ID = 9297]
2. Guaranteed by the Fundamental Rights in the Constitution of India/sTea & \feram # Tiediaga wiforh sferwe

[Option ID = 9298]
3. A Directive Principle of State Policy taken into consideration while making enactments/srfarfe=ra aara 7o Femeret forw o w7 Aifa & ifg Fers
qcq

[Option ID = 9299]
4. Given to the people by the writs issued by the High Courts or the Supreme Court/Iga® =ATATAT AFGT IF ~ATITAT T ST R g7 A v &= /2

[Option ID = 9300]

Correct Answer :-

e An idea enshrined in the Preamble of the Constitution of India/wTed & wfFem™ & szfarr & wfagrua s fF=me
[Option ID = 9297]

26) The percentage of people in the age group of 19-24, who received formal vocational education, estimated in the
12th Plan (2012-2017) is:

12 3T TASAT (2012 - 2017) ® 19 - 24 g F¥F & fq=1ieTd ATIATIAF FAAT I77 FLF a16A A4t wTfIqT 8 -

[Question ID = 2326][Question Description = S2_qSNz_PG_ADE_Q26]
1. 30%

[Option ID = 9301]
2. 25%

[Option ID = 9302]
3. 20%

[Option ID = 9303]
4. 5%

[Option ID = 9304]



Correct Answer :-
e 30%

[Option ID = 9301]

27) University Education Commission was constituted in the year

fersarfa=mar fareT sravw #1 eqrqar fFa ad 9 Ky 78 97

[Question ID = 2327][Question Description = S2_qSNz_PG_ADE_Q27]

1. 1946

[Option ID = 9305]
2. 1948

[Option ID = 9306]
3. 1945

[Option ID = 9307]
4. 1947

[Option ID = 9308]
Correct Answer :-
e 1946

[Option ID = 9305]

28) Lifelong Learning through State Government Support Centres like:

TTST GIHTT TZTIAT DET B ATEAH § 1T @71 A

[Question ID = 2328][Question Description = S2_qSNz_PG_ADE_Q28]
1. State Resource Centres/ITsT THTE 5

[Option ID = 9309]
2. Jan Shikshan Sansthan (JSS) /ST fereqor Feqme (JSS)

[Option ID = 9310]
3. Department of Lifelong Learning in Universities/frafaemet & srstra= srferm fasmr

[Option ID = 9311]
4. Population Education Clubs/SeeaT fare Ferer

[Option ID = 9312]
Correct Answer :-
e State Resource Centres/TTsT HHTYT &5

[Option ID = 9309]

29) As per the National Education Policy 2020, by 2025, access to vocational education shall be

T farat 1Y, 2020 # stgaTe as 2025 a5 sATaATAF fraT w71 wiyaa g -

[Question ID = 2329][Question Description = S2_qSNz_PG_ADE_Q29]
1. 50%

[Option ID = 9313]
2. 60%

[Option ID = 9314]
3. 40%

[Option ID = 9315]
4. 75%

[Option ID = 9316]
Correct Answer :-
e 50%

[Option ID = 9313]

30) A hypothesis derived from a theory is known as a/an:

uF fAgid @ ST ITHETAT FT FETATAT S -

[Question ID = 2330][Question Description = S2_qSNz_PG_ADE_Q30]
1. Inductive Hypothesis/3 i THATHE JTehHeT T



[Option ID = 9317]
2. Alternative Hypothesis/aa e JTehed=T

[Option ID = 9318]
3. Null Hypothesis/3\T JTeheddT

[Option ID = 9319]
4. Deductive Hypothesis/ e THATeR® ITehea=T

[Option ID = 9320]
Correct Answer :-
e |nductive Hypothesis/iTHATHS ITHeTAT

[Option ID = 9317]

31) Who among the following are considered as the poorest of the poor?

7T & { TOT F AT ATR 17 3

[Question ID = 2331][Question Description = S2_qSNz_PG_ADE_Q31]
1. Scheduled Castes/sqa = sriaat

[Option ID = 9321]
2. Scheduled Tribes/ s Ef=a SsTia=t

[Option ID = 9322]
3. Disaster struck people/3TTaT # % T

[Option ID = 9323]
4. Women/Older people/sf&aT / ot =ik

[Option ID = 9324]

Correct Answer :-

e Scheduled Castes/&gf=a STt
[Option ID = 9321]

32) The questions which provide categories for respondents to choose or check, in a questionnaire, are referred to as:

F T T ITLETAT HT TATTAT | L T st A1 ARt swasy #3703 8, I Fgam9 @ -

[Question ID = 2332][Question Description = S2_qSNz_PG_ADE_Q32]
1. Close-ended questions/#a w1

[Option ID = 9325]
2. Research questions/<TTera?a T=1

[Option ID = 9326]
3. Open-ended questions/g w1

[Option ID = 9327]
4. Close and open ended questions/a= ¥ g w1

[Option ID = 9328]
Correct Answer :-
e (lose-ended questions/&& ¥°1

[Option ID = 9325]

33) A sampling in which interviewees are asked to refer people they know to the researcher, for inclusion in the sample,
is:

UF wiaast FArad qaraqreawTe Irarat 1 A F7 AT AT T977 F forg Iqant #1782 g7 131 @ S arygredT FT90I -

[Question ID = 2333][Question Description = S2_qSNz_PG_ADE_Q33]
1. Systematic sampling/=rafeara ufaast

[Option ID = 9329]
2. Snowball sampling/®Tater gfeast

[Option ID = 9330]
3. Lottery/®fe<t

[Option ID = 9331]
4. Purposive sampling/3z9aa<e Tiaast

[Option ID = 9332]

Correct Answer :-
e Systematic sampling/=rafRea wfaest



[Option ID = 9329]

34) When the members of the sampling frame are systematically different from the target population in a way that
influences the results of the study, it is referred to as:

I AT B H F I NAATTE €T & ATHT AATIT & T TG AATGIA & A1 ALTAT & TIOTHT T IATIAT FITT R, ITHT
qaq g -

[Question ID = 2334][Question Description = S2_qSNz_PG_ADE_Q34]

1. Volunteer bias/&@d&a® TatUg &

[Option ID = 9333]
2. Nonresponse bias/sTsfifararers qairg &

[Option ID = 9334]
3. Coverage bias/#=ariad @Ig &

[Option ID = 9335]
4. Interest bias/srfer=frra @he &

[Option ID = 9336]

Correct Answer :-

e Volunteer bias/¥=da® TaIg &
[Option ID = 9333]

35) Which of the following benefits is NOT covered under online learning?

atafReg d wfuary staarsT afema & qdiaagdi ararg .

[Question ID = 2335][Question Description = S2_qSNz_PG_ADE_Q35]
1. Cost-effectiveness/@Tra saTasfierar [Option ID = 9337]

2. Content updated rapidly /T3 =T IsfT 7 sr=ra=T FZAT [Option ID = 9338]

3. Just in time/2T% @87 7T [Option ID = 9339]

4. Personal touch/a=f=re ¥997 [Option ID = 9340]

Correct Answer :-
e Cost-effectiveness/mTa waraefierar [Option ID = 9337]

36) The idea and essence of adult education is reflected in which of the following quotes?
A. "If you know something, teach it to someone who does not"

B. "llliteracy is the fruit of mental colonialism"

C. "People who are educated, can control others”

D. "Ignorance is a synonym for darkness"

Choose the correct answer from the options given below:

e farert &7 fa=re e a1 faafafEa sgedi /@ wiafafaa grar g -

A, T OFET FFETITTFTATT G 41 38 & et =1 f3F %7 ver3w g sgwramaagi g
B. "fAzer<ar, ATafy® Syt aars #1ameafas w7 §"

C.'siarm frfora g &, a A Fr AP srasa § "

D. SAFTAQT, AFT FTUATTE "

Fr= fYT g fawedi § & 987 ST HT 99 FI9Q

[Question ID = 2336][Question Description = S2_qSNz_PG_ADE_Q36]
1. A, Cand D only/#a« A, C 3T D

[Option ID = 9341]
2. A, Band Conly/#a A, B T C

[Option ID = 9342]
3. A, Band D only/#a< A, B =T D

[Option ID = 9343]
4. B, Cand D only/#a= B, C 3T D

[Option ID = 9344]

Correct Answer :-

e A, Cand D only/#ae A, C 3w D
[Option ID = 9341]



37) The programme that is included among five types of Curriculum Framework for Adult Education in the National
Education Policy-2020 is

T FTIFHA FT AT 147 17 2020 F a7 THTT P qTAFHA T | q1f7w fHavrwarg -

[Question ID = 2337][Question Description = S2_qSNz_PG_ADE_Q37]
1. Each one Teach one/z= a7 - &= a7

[Option ID = 9345]
2. MPFL/uw. 91, U%. U,

[Option ID = 9346]
3. NREP/T. #re. €. t.

[Option ID = 9347]
4. Critical life skills/wgeal sfraw Frare

[Option ID = 9348]
Correct Answer :-
e Fach one Teach one/3= a7 - &9 97

[Option ID = 9345]

38) Aresearch tool, which has 5 cues viz, Very good/ Good/ Neutral/ Poor and Very poor for measuring a trait, is:

fAATITR FTATIT F@ F Q5 GFIT AqTT TET T=AT/ =T/ €A/ T AT TGT GUT 4 LF A YTH STHIT @

[Question ID = 2338][Question Description = S2_qSNz_PG_ADE_Q38]
1. Check list/stf= =t

[Option ID = 9349]
2. Questionnaire/g=Taet

[Option ID = 9350]
3. Case study/ F sreaa

[Option ID = 9351]
4. Scale/fwmT

[Option ID = 9352]

Correct Answer :-
® Check list/stf=r gt

[Option ID = 9349]

39) Freire's literacy methods are:

A. Alphabetical Reading method

B. An arduous search for generative words

C. Culture of silence to emerge as conscious makers of their own culture
D. Zero Reading method

Choose the correct answer from the options given below:

s FT araar fafar g .

A. TUFATIATR 7517 fafy

B. SEAAT ASal KT AHATET T

C. TH GTHIA FT AU &9 H1 GEHIA B ATAT {AH T¢T F1 €T & INAT
D. ‘g aa fafyr

A9 frg g faseq & & 9 sATHT 977 V7 :

[Question ID = 2339][Question Description = S2_qSNz_PG_ADE_Q39]
1. Aand B only/#a« A 3T B

[Option ID = 9353]
2. Band C only/#a= B 3fiT C

[Option ID = 9354]
3. Aand D only/#ae A 3 D

[Option ID = 9355]
4. Band D only/#a< B 3T D



[Option ID = 9356]

Correct Answer :-
e AandBonly/Fa AT B

[Option ID = 9353]

40) Illich offered a radical critique of some of the established institutions. Which of the following are they?
A. Church

B. Science and Technology

C. Teaching

D. Medicine

Choose the correct answer from the options given below:

o= 7 g earfg deara 7 afqardy sraraar Yy I #A7E ?
A. =

B. farsrr stz wr=nfirahy

C. AT

D. strwfyr

A9 frg g fasweal & & 9g) ST H1 937 Fifvrg :

[Question ID = 2340][Question Description = S2_qSNz_PG_ADE_Q40]
1. A, Band C only/#a= A, B &% C

[Option ID = 9357]
2. B, Cand D only/#a B, C 3w D

[Option ID = 9358]
3. A, CandD only/#a« A, C 3fiT D

[Option ID = 9359]
4. A, B and D only/#a A, B =T D

[Option ID = 9360]

Correct Answer :-
e A, Band Conly/#a A, B T C

[Option ID = 9357]

41) The word 'Plagiarism' also means:
A. Academic dishonesty

B. Academic fraud

C. Research acumen

D. Academic attitude

Choose the correct answer from the options given below:

"grigfeas 0" asq &1 o fawfafag W18 :

A. FwTefas AT+t

B. srwrafos er@reast

C. sy T fagvgar

D. srwTefirs gi¥sro

Fr= frT g fawedi § & 987 ST HT 97 HI{9Q ¢

[Question ID = 2341][Question Description = S2_qSNz_PG_ADE_Q41]

A and B only/#a A &7 B [Option ID = 9361]
B and D only/#a< B 3f< D [Option ID = 9362]
B and C only/#=< B T C [Option ID = 9363]
A and D only/#=< A 3T D [Option ID = 9364]

A W N -

Correct Answer :-
e Aand B only/#a A 3% B [Option ID = 9361]

42) Which of the following are the fundamental factors in developing any curriculum?



A. Educational purpose

B. Organised experience

C. Specialization of teaching
D. Evaluation

Choose the correct answer from the options given below:

et o arsmEw F7 fawfyg 57 3 g ey § staargfard s arg ?
A. tferFIReT

B. gwfeq srgwa

C. farsror &1 fAadfwr

D. gFATHT

19 g g fasweql & & 9 ST HT 977 Ffvrw

[Question ID = 2342][Question Description = S2_qSNz_PG_ADE_Q42]

. Aand C only/Fa+ A iz C [Option ID = 9365]
. Aand B only/#a A T B [Option ID = 9366]
. A, Band D only/#a= A, B &z D [Option ID = 9367]
. B, C and D only/#a= B, C 3 D [Option ID = 9368]

A w N =

Correct Answer :-
e Aand C only/#a« A 3T C [Option ID = 9365]

43) Sustainable Development Goals for education are to ensure that all learners acquire the knowledge and skills needed to
promote sustainable development and include:

A. Human rights

B. Gender equality

C. Promotion of Peace and Non-violence
D. Appreciation of regional boundaries

Choose the correct answer from the options given below:

farerr @9 eft frewriors fawrg asg 78 grfem 79 3 e & 0% a7 frard 3 919 v Fraa yra sTas o dawts fGam
g $ fog sraeas § forad F Wy afaa g -

A. ATAT AFAFHTT

B. =T qATAAT

C. aifa shx srfgwr FTdaefT

D. wrafars dvaTsit w7 IIEAT

A9 frg g fasweqt & @ 9 swTs1 977 A :

[Question ID = 2343][Question Description = S2_qSNz_PG_ADE_Q43]

. A and D only/Fa+ A iz D [Option ID = 9369]
. Aand B only/#=+ A T B [Option ID = 9370]

. Band C only/#a+ B ¥ C [Option ID = 9371]
. Cand D only/#a C i D [Option ID = 9372]

A w N =

Correct Answer :-
e Aand D only/#a A 3T D [Option ID = 9369]

44) Arrange the factors in order of the curriculum pattern.
A. Evaluation

B. Subject matter

C. Aims

D. Objectives

E. Methods and organization

Choose the correct answer from the options given below:

qraa=aaf tad ® F U A FTTHT T AIRITF :



A. gEITFT

B. fawaasy

C.S2eT

D. ¥&T

E. 76% ST sravs

= fro e faseat 7 @ gt ITHFTIIT MRAT ¢

[Question ID = 2344][Question Description = S2_qSNz_PG_ADE_Q44]

, D, B, E, A[Option ID =9373]
C, D, B, E [Option ID = 9374]

, D, E, B, A[Option ID =9375]
C, B, A, E [Option ID = 9376]

)

A W N -

» By

Correct Answer :-
e C,D, B, E, A[Option ID =9373]

45) Knowles applies some principles to the process of teaching; what are they?
A. Establishing a structure for mutual planning

B. Setting a climate for learning

C. Creating a referencing frame

D. Diagnosing learning needs

Choose the correct answer from the options given below:

ataq, fargw - fAfy & frg gz Rt FTATTATFETE; T 71T - F17 9 {gia g ?
A. ITTETTCE rArSTAT & forg g3t eurfyg $3A7

B. fareror & forw arara<er a9TAT

C. g+ gT=T FT T FAT

D. fr&w ST&ETql #Y IgITH HLAT

1= feg g faweat /@ & ot ST HT 977 FfINT

[Question ID = 2345][Question Description = S2_qSNz_PG_ADE_Q45]
1. A, Band D only/#a A, B 3w D

[Option ID = 9377]
2. B, C and Donly/#a= B, C 3T D

[Option ID = 9378]
3. A, Cand D only/#a< A, C #iw D

[Option ID = 9379]
4. A, B and C only/#a+ A, B T C

[Option ID = 9380]

Correct Answer :-
e A, Band D only/#a+ A, B #fiT D

[Option ID = 9377]

46) In practical terms, a lifelong learning system should bring together:
A. natural learning processes employed by all human beings

B. government jobs for all skilled population

C. basic literacy skills necessary for survival in a complex modern society
D. the learning needs of its women

Choose the correct answer from the options given below:

FTaETivs 27 @ staaada gaa a1t foraw agfa # Fratofas s arg aErafyo:
A. Y ATAAT T WLF AT faw fRraror wieare

B. ¥t laa<s Ml & forg aeawtdt atsdt

C. frdt sifewt srg o gaTsr / srfRaa 3 fog gfiardt arawar staa staeas grar g
D. wigaTst 1 farqw srasasarg



= g 7y fagedt & @ qFt ITTHT II7 MfNC

[Question ID = 2346][Question Description = S2_qSNz_PG_ADE_Q46]
1. Aand C only/#a A 3w C

[Option ID = 9381]
2. Aand B only/#a< A #iT B

[Option ID = 9382]
3. Band C only/#a B 3w C

[Option ID = 9383]
4. CandD only/#a= C v D

[Option ID = 9384]

Correct Answer :-
e Aand Conly/#a@ A si¥ C

[Option ID = 9381]

47) National Literacy Resource Centre was initially located at and was later shifted to
A. Mussoorie

B. Jammu

C. Delhi

D. Chennai

E. Pune

Choose the correct answer from the options given below:

AT ATAQTEATITRG UGS _____ AT AT I F _____ AAT7AT :
A. 7g8

B. ST

C. faedt

D. I%E

E. qut

A= feg g fawedt & @ 9 ST HT 977 F1T ¢

[Question ID = 2347][Question Description = S2_qSNz_PG_ADE_Q47]
1. Aand B only/#a« A i B

[Option ID = 9385]
2. Aand Conly/Fa«T A 3T C

[Option ID = 9386]
3. Band C only/#a= B 3fiT C

[Option ID = 9387]
4. Band E only/#a B 3T E

[Option ID = 9388]

Correct Answer :-
e Aand B only/#a A =T B

[Option ID = 9385]

48) Principles of Extension Education are :
A. Principle of interest and needs

B. Principle of heredity and environment

C. Principle of cultural change

D. Principle of credit

E. Principle of cooperation and participation

Choose the correct answer from the options given below:

faeqme farar & fagia g -

A. =f¥ sirT sraggwarst w1 fargia



B. swatfarear < wafaw &1 RAgia

C. girgfas afada w1 Rgia

D. AT=ITT &7 fagia

E. g7 T wrifiard w71 fRrgia

Fr= feT g fawedi & @ 987 STTHT 77 71T

[Question ID = 2348][Question Description = S2_qSNz_PG_ADE_Q48]
1. C,Dand E only/#a= C, D T E

[Option ID = 9389]
2. A, Cand E only/#a« A, C ST E

[Option ID = 9390]
3. A, B, CandD only/#a< A, B, C3fiw D

[Option ID = 9391]
4. A,DandE only/#a« A, D #iT E

[Option ID = 9392]

Correct Answer :-
e C,DandEonly/#a« C, D & E

[Option ID = 9389]

49) Characteristics of adult learners are:

A. Adults are autonomous and self-directed

B. Adults are goal-oriented

C. Adults are practical

D. Adults are anxious

E. Adults have a foundation of life experiences and knowledge

Choose the correct answer from the options given below:

Wiz farerdi & sarqgw g ?

A. TIE T9719T AT srenfaa farg &

B. W& M&A+HE §IT §

C. Mg ATIETIF gIa &

D. 9tz fHaTge g &

E. WIBT & 979 SAa9T{9T Td AT FT MITT AT S
1= feg e faseat /@ @ aft ST HT 997 Ao

[Question ID = 2349][Question Description = S2_qSNz_PG_ADE_Q49]
1. A, B, Cand E only/#a< A, B, C ST E

[Option ID = 9393]
2. A, B, CandDonly/Fa=T A, B, C 3T D

[Option ID = 9394]
3. B,C,Dand Eonly/#a« B, C, D 3fi E

[Option ID = 9395]
4. A,C,Dand Eonly/#a A, C, DT E

[Option ID = 9396]

Correct Answer :-
e A B, CandEonly/#a A, B, C i E

[Option ID = 9393]

50) Most frequently referred deterrants to participation of adult learners are:
A. Lack of confidence

B. Relevance

C. Reluctance

D. Experience

E. Family tradition

Choose the correct answer from the options given below:



Trg AfgmraFafAif amrh & TI-T1L qqfS ATt IUEe § -
A. srenfrsaTa 1 w9

B. wr&frwar

C. srfa=ar

D. ATAT

E. afam £ vdar

= fro e faseat 7 @ gt ITTHTIIT MR™ATC ¢

[Question ID = 2350][Question Description = S2_qSNz_PG_ADE_Q50]
1. A, Band C only/#=<T A, B &% C

[Option ID = 9397]
2. B, Cand D only/#a B, C 3w D

[Option ID = 9398]
3. C,DandEonly/Fa@ C, D 3fiT E

[Option ID = 9399]
4. B,Dand Eonly/#a< B, D T E

[Option ID = 9400]

Correct Answer :-
e A, Band Conly/#a A, B =T C

[Option ID = 9397]

51) Education is the key to

A. All processes of development
B. Infrastructural Development
C. I.C.T. Development

D. Human Development

E. Physical Development

Choose the correct answer from the options given below:

farerr frasft gt € ?

A. fawTa 1 Y wiwarss 1

B. S THATHT fAFTH #1

C. 3w g7 2t fawra #

D. ATAT fa®Ta &7

E. #tfas fawra #Y

= fag 7y fawedt & @ 9 ST HT 77 FIQ ¢

[Question ID = 2351][Question Description = S2_qSNz_PG_ADE_Q51]
1. Aand E only/#a« A 3T E

[Option ID = 9401]
2. BandDonly/Fa«T B #T D

[Option ID = 9402]
3. Aand D only/Fa«r A3fiT D

[Option ID = 9403]
4. Band Conly/#a B & C

[Option ID = 9404]

Correct Answer :-
e Aand E only/#a A #iT E

[Option ID = 9401]

52) Which of the following are the principles of andragogy?
A. Self-concept of the learner

B. Reference frame of learning



C. Learner's need to know why, what and how to learn
D. Evaluation of learning
E. Readiness to learn

Choose the correct answer from the options given below:

frafafaa & @ wiz frara Rgiastg-a €2

A. sferTe 1 swew-gTIT

B. stferarw #1 srgaer @ T=AT

C. fRrarst #Y ST a7 sragawar O 41, F91 AT HT drgar
D. srf¥rw w71 geaiaw

E. @@= &t qeq<ar

1= feg oy fasedt & & ot ST HT 9779 FfINC

[Question ID = 2352][Question Description = S2_qSNz_PG_ADE_Q52]
1. Aand C only/F= A #iT C

[Option ID = 9405]
2. B, DandE only/#a= B, D 3fiT E

[Option ID = 9406]
3. A, Band D only/#a A, B #fiw D

[Option ID = 9407]
4. A, Cand E only/#a« A, C ST E

[Option ID = 9408]

Correct Answer :-
e Aand Conly/&Fa« AT C

[Option ID = 9405]

53) Which of the following constitute some of the elements of counselling?

A. Counselling involves two persons

B. Specific objective of counselling is to help and assist the counsellee to solve her/his problems independently
C. Counsellor's rapport with the counsellee is mandatory

D. Counselling is a professional task and must be performed by professionally trained persons

E. We do counselling in our everyday life and thus, everybody can be a counsellor

Choose the correct answer from the options given below:

F 9HA B {F AEA G ¢

A. gowef ® =Y == arfus g @

B. vUrwel &7 fAfre STex 9aATE WTH LA AT AT hT STHRT HEAT F7T &qq~7 €T & THTGTT HCH | GgTIAT T&TT HLAT R
C. TUHY TTAT HT IUHL TTH FXA a7 SATF & GTT =T AFTGIL ZIAT AfAaATH

D. gXTHSfT T4 TF TAIR {7 § AT ATFATHAF €7 & 7f¥rféag sz grewe & ag frar srar arfzo

E. g qu 2% ftaa & qemwef 37 € o< 3@ wFR @& A6 qOweiarar g1 a4av 3

A9 frg g fasea & & 9 SO HT 977 FAfvrw:

[Question ID = 2353][Question Description = S2_qSNz_PG_ADE_Q53]
1. A, C and D only/#a< A, C &T D

[Option ID = 9409]
2. A, Band D only/#a< A, B 3T D

[Option ID = 9410]
3. A, BandE only/#a A, B #iv E

[Option ID = 9411]
4. A, Cand B only/#a+ A, B T C

[Option ID = 9412]

Correct Answer :-

e A, CandD only/#a< A, C T D
[Option ID = 9409]



54) Which of the following are the types of counselling?
A. Client-centred method

B. Professional method

C. Direct method

D. Indirect method

E. Focused method

Choose the correct answer from the options given below:

e wxrae & wHTT § -

A. a1 R e wfafy

B. gqrax wiafa

C. weag wiafy

D. wxre wiafar

E. afuq wfafa

A9 frg g fasweq & @ 9 SO HT 977 ™7

[Question ID = 2354][Question Description = S2_qSNz_PG_ADE_Q54]
1. Aand B only/#a« A i B

[Option ID = 9413]
2. Band C only/#a B 3fiT C

[Option ID = 9414]
3. Aand Conly/Fae A ¥ C

[Option ID = 9415]
4. DandE only/#a< D #i¥ E

[Option ID = 9416]

Correct Answer :-
e Aand B only/#a A =T B

[Option ID = 9413]

55) Arrange the following in sequential order:
A. Introduction

B. Statement of the problem

C. Review of literature

D. Findings

E. Methodology

Choose the correct answer from the options given below:

faafafea £ sargare safRag fifvg

A. TEQTEAT

B. GHEAT HAT

C. qTayT #T AH AT

D. wif¥r

E. vgfy

A9 frg g faswea & & 9 SO HT 977 AT :

[Question ID = 2355][Question Description = S2_qSNz_PG_ADE_Q55]
1. A,C,B,E, D
[Option ID = 9417]
2. A/B,C,D, E
[Option ID = 9418]
3. E,B,D, A, C

[Option ID = 9419]
4. C,B,AD,E



[Option ID = 9420]

Correct Answer :-
e AC B, ED

[Option ID = 9417]

56) Which of the following are the characteristics of distance education?
A. It uses technical media

B. It uses written testing only

C. Content belongs to the teacher

D. Semi-permanent separation of the teacher and the learner

E. It is a two-way process

Choose the correct answer from the options given below:

e & @ w17 - 97 g fhrar #7 fAduard € 2

A. T TEFATHT ATTITHTINTHI@TR

B. g fafaa avdigror &1 o 7917 wLAT

C. Frwaaeg foags #7 Erat 2

D. faras we fararoT &1 ot eo4TE ToAgw

E. g U fgardt wfwar @

A9 frg g fasweqt & @ 9 swTH1 977 fAfvrw:

[Question ID = 2356][Question Description = S2_qSNz_PG_ADE_Q56]
1. A, Band C only/#a= A, B #i¥ C

[Option ID = 9421]
2. C,DandEonly/#a« C, D &7 E

[Option ID = 9422]
3. A, DandE only/#a A, D 3fiT E

[Option ID = 9423]
4. A, CandE only/#a A, C #iT E

[Option ID = 9424]

Correct Answer :-
e A, Band Conly/#a A, B T C

[Option ID = 9421]

57) What are the sources used to frame the educational purposes in consideration of curriculum development?
A. Studies of the learners themselves as a source

B. Studies of contemporary life

C. Studies of history

D. Suggestions about objectives from subject specialists

E. Suggestions from institutions

Choose the correct answer from the options given below:

qrsr=at farwre g =17 wea v s vavrsT w1 fHwto $39 # @7 747 - FA478 ?
A. FIT F TR a7 frartiat 1 76779 A7

B. HATHTIAF STTT FT 7777

C. sfagra &1 srswaT

D. faww faftwsi 3 weal & IR & AT

E. a1 & AT

A9 g g fasweqt & @ 9 swTHT 977 fAv7:

[Question ID = 2357][Question Description = S2_qSNz_PG_ADE_Q57]
1. B, Cand E only/#a« B, C #fiv E

[Option ID = 9425]



2. A, Cand D only/#a< A, C 3w D

[Option ID = 9426]
3. A, BandD only/#aw A, BT D

[Option ID = 9427]
4. B, Cand D only/#a« B, C 3 D

[Option ID = 9428]

Correct Answer :-
e B, CandE only/#a« B, C 3T E

[Option ID = 9425]

58) Which of the following are the characteristics of Learning Experience?
A. Helpful in developing interests

B. Developing skills in thinking

C. Helpful in evaluating objectives

D. Helpful in acquiring information

E. Helpful in testing teaching

Choose the correct answer from the options given below:

faw & @ wr7 A7 fUrgw gy 1 geg v € ?
A. sfvrefat & fasra & agras

B. f5r3a ftare % faswra # wgraw

C. IR & TATHA | qETIAF

D. §IATE ITH FIA # ZTAF

E. aferor fareror & agra®

= Uy fAFeat 7 @ gt ITTFT 7T MAT ¢

[Question ID = 2358][Question Description = S2_qSNz_PG_ADE_Q58]
1. B, Cand D only/#a= B, C 3T D

[Option ID = 9429]
2. A, Band D only/#a A, B T D

[Option ID = 9430]
3. C,DandEonly/#a« C, D &% E

[Option ID = 9431]
4. A, DandE only/#a=T A, D i E

[Option ID = 9432]

Correct Answer :-
e B, CandD only/#a« B, C 3T D

[Option ID = 9429]

59) Non-Formal Education can result in:
A. Child-centred system

B. Classroom teaching

C. Environment-oriented system

D. Personal one-to-one guidance

E. Teacher-centred system

Choose the correct answer from the options given below:

AT fraT FT Ao T EaFATE ¢
A. T - FTRT ForTeAt

B. w&TaTH fareror

C. gafau=qg YTt

D. =fFTT swAA - arAA F7 f¥av - A
E. frers - %7 yorreft



A9 frg oy faswea & & 9 swTHT 937 ™0 :

[Question ID = 2359][Question Description = S2_qSNz_PG_ADE_Q59]
1. Aand C only/3F=< A #iT C

[Option ID = 9433]
2. Band D only/#a= B 3fiw D

[Option ID = 9434]
3. DandE only/#a D T E

[Option ID = 9435]
4. Aand E only/FaT A #T E

[Option ID = 9436]

Correct Answer :-
e Aand Conly/FaeT A 3T C

[Option ID = 9433]

60) A good population estimator possesses which of the following characteristics?
A. Unbiased

B. Bigger Variance

C. Sufficiency

D. Consistency

E. Lower reliability

Choose the correct answer from the options given below:

TS =8 T4 &qT AHa® A fAwfriga Fdwar N :
A. TaTIE 4H

B. =Y fr=rar

C. yxtgar

D. gEA

E. &% fragtaar

AR Ry fFrFeat 7 ] gt sATHFTIIT RN

[Question ID = 2360][Question Description = S2_qSNz_PG_ADE_Q60]
1. A, Band D only/#a< A, B #iiT D

[Option ID = 9437]
2. A, DandEonly/#a< A, D ST E

[Option ID = 9438]
3. B, Dand E only/#a B, D 7 E

[Option ID = 9439]
4. A, Cand D only/#a A, C 3T D

[Option ID = 9440]

Correct Answer :-
e A, Band D only/#a A, B 3T D

[Option ID = 9437]

61) Which of the following statements are true about Population Education Programme?
A. It helps the present-day students take over the responsibility of the family

B. It targets a particular section of the population

C. It is meant only for married couples

D. Population Education Programme ensures a better quality of life

E. Population Education Programme has resulted in India checking its population growth

Choose the correct answer from the options given below:

ST AT FTfFT S aRA LTS

A. =8 FFATT guT | fAafdat #1 afmre w1 i< 73w $3 7 v hardt g



B. 39 Sa AT & e a9 faaw w71 7e7 faaffeg frarsrarg

C. ag 39 faarfygg Trufwai & T §

D. SIMEEAT foreT FTAHA F Sta7 T IgA< Toraar giataa gt |

E. IEEAT fAAT FTEFH F FACTET WILT § A8 &q7 g 78 OF 991 §
Fr= feT g fawedi & @ 987 ITTHT 77 FI{Q

[Question ID = 2361][Question Description = S2_qSNz_PG_ADE_Q61]
1. B, Cand D only/#a= B, C 3w D

[Option ID = 9441]
2. A, Cand D only/#a= A, C 3z D

[Option ID = 9442]
3. A, Band D only/#a< A, B 3T D

[Option ID = 9443]
4. A, B and C only/#a A, B =T C

[Option ID = 9444]

Correct Answer :-
e B, CandD only/#a« B, C 3w D

[Option ID = 9441]

62) Which of the following are the types of data in research?
A. Qualitative

B. Quantitative

C. Reflective

D. Retrospective

E. Prospective

Choose the correct answer from the options given below:

arg | {99 IF1TH AFS FATEA & ?

A. TUTHF

B. gfxurraTen®

C. famefqef

D. ya=a&ft

E. QITHT

Fr= few 7y fawedt & @ 987 STTHT 77 FI{T ¢

[Question ID = 2362][Question Description = S2_qSNz_PG_ADE_Q62]
1. Aand B only/#a« A 3T B

[Option ID = 9445]
2. Band Conly/#Fa« B 3w C

[Option ID = 9446]
3. Cand D only/#=< C 3fiw D

[Option ID = 9447]
4. AandE only/#a« A siv E

[Option ID = 9448]

Correct Answer :-
e Aand B only/#a A #iT B

[Option ID = 9445]

63) Which of the following statements about the concept of lifelong education are true?
A. A paradigm shift from lifelong education to lifelong learning

B. The concept of lifelong education originated in India

C. It is never too soon or too late for learning

D. UNESCO implemented lifelong education

E. Lifelong education is an alternative system of education to achieve 100% literacy

Choose the correct answer from the options given below:



Frsra+ fargT FT GFeqaT & dag 7 fafoiag saaadi § -

A. asfta faregT s srsfias stferra ® givardt / srpag afcads

B. WTIT # STUW A Taw faU\qr #1 gHeqar

C. Hraw & forg £ It a1 51 ITAH P

D. IATET 7 aAtaT frar w71 wratfeaq frar

E. swstra farat &t wioera area<ar ata 39 & g farar € v d5foas sgaear g
= fro e faseat 7 @ gt ITNTHT T MR™AT ¢

[Question ID = 2363][Question Description = S2_qSNz_PG_ADE_Q63]
1. A, Band E only/#a<T A, B 3T E

[Option ID = 9449]
2. A, Cand D only/a< A, C T D

[Option ID = 9450]
3. C,DandEonly/Fa@ C, D 3fiT E

[Option ID = 9451]
4. B, Cand D only/#a« B, C 3w D

[Option ID = 9452]

Correct Answer :-

e A, BandE only/#ae A, B3fiTE
[Option ID = 9449]

64) Bergevin claimed that a good discussion topic should meet the following criteria; which are they?
A. The topic should be useful

B. The topic should be of contemporary relevance

C. The topic should be clearly worded and understood

D. The topic should suggest alternative points of view

Choose the correct answer from the options given below:

g w1147 & T =t it & fawa # fog ferwferfag amades g =g :
A. frwg T graT ATfRT

B. farwx gwwtiors 7 @ wrafirs grav a1y

C. fawa F 5% eI i T FIYTFY g4 ATRY

D. faww # F=feus gfewro w1 fAwqw grar F1fyy

Fr= feT g fawedi & @ 987 STTHT 77 FIQ ¢

[Question ID = 2364][Question Description = S2_qSNz_PG_ADE_Qé64]
1. Aand B only/#a<T A 3fi B

[Option ID = 9453]
2. Cand D only/#a C T D

[Option ID = 9454]
3. Band C only/#a B 3w C

[Option ID = 9455]
4. Aand D only/#a A 3fiw D

[Option ID = 9456]
Correct Answer :-
e Aand B only/#a A #iv B
[Option ID = 9453]

65) Match List | with List Il

List | List Il

A. Alternate

approach to formal |l. Civic literacy (Social education)
school

B. Life-oriented Il. Developmental literacy (NAEP, TLC,



approach Continuing education)

C. Work-oriented

lll. Basic li isht sch
approach asic literacy (Night schools)

IV. Functional literacy (Farmers education,
functional literacy programme and Shramik
Vidya)

D. Social change
approach

Choose the correct answer from the options given below:

T -l FT gt -1 F gER fifv

gt -l =T -l

A, TRITRE 3T

et Fi T I. AT FTeATAT (WATSIIAAT)

B. Sfraar=q@

fesr Il. fasTE rEar (@, g9, @ g /1 aqq fram)
C. FTIi-qE

N . gfFard gracar @i areara)

D. gATT IfadT IV, TR qa® qraar (Frara frar yasragas
FFT g ATEIAT FTEHA AT ATHF qraamam)

19 frg g fasweat & @ g savgiAw:

[Question ID = 2365][Question Description = S2_qSNz_PG_ADE_Q65]
1. A-1,B-1l,C-1,D-IV

[Option ID = 9457]
2. A-IV,B-1I,C-1,D-1ll

[Option ID = 9458]
3. A-lll,B-1,C-1V,D-1l

[Option ID = 9459]
4. A-11,B-1II,C-1V,D-I

[Option ID = 9460]
Correct Answer :-
e A-Il,B-NI,C-1,D-1IV
[Option ID = 9457]

66) Match List | with List Il

List | List Il

A. Adult Literacy Resource Agency I. Easily accessible library

B. Pre-Retirement Association Il. University of Surrey

C. World Wide Web Ill. National Institute of Adult Education
D. NIACE is located in IV. Leicester

Choose the correct answer from the options given below:

AT -1 w7 AT -1l | gR g AV :

gt -l gt -l

A. Teee frd et frard ey . gt wad fRfas araad &

B. I - ferawde gaifirmaa |l gfaafddt srw af

C. 9% 91T T lll. R} FTESIE AH TSTE T AT
D. TR sME T HT § fRaa IV. ¥

A9 frg oy fasweqt & @ gt sacgfg:

[Question ID = 2366][Question Description = S2_qSNz_PG_ADE_Q66]
1. A-llL,B-1,C-1,D-IV

[Option ID = 9461]
2. A-1,B-1,C-1I,D-1IV

[Option ID = 9462]
3. A-IV,B-1Il,C-1,D- 1l

[Option ID = 9463]



4, A-1,B-1l,C-1V,D -1
[Option ID = 9464]

Correct Answer :-

e A-IILB-Il,C-1,D-1IV
[Option ID = 9461]

67) Match List | with List Il

List | List I

IA. READ I. Primary Education

B. Nai Talim |ll. Education for Minority Women
C. CAPE Ill. Basic Education

D. Nai Roshni [IV. Functional literacy

Choose the correct answer from the options given below:

T - FT gt -1 F gRi i

=T -l =T -

A, e I sroafas farer

B. 7% a1 Il. sreqe e wigarsi ¥g farar
C. a7 . gf=rd g

D. 7S TrerAT IV. wwTafca® araar

19 frg g fasear & @ gyt sav T

[Question ID = 2367][Question Description = S2_qSNz_PG_ADE_Q67]
1. A-IV,B-1ll,C-1,D-1

[Option ID = 9465]
2. A-1,B-1I,C-1I,D-IV

[Option ID = 9466]
3. A-IV,B-1l,C-1,D-1ll

[Option ID = 9467]
4. A-U1I,B-1,C-1l,D-1IV

[Option ID = 9468]
Correct Answer :-
e A-IV,B-1lll,C-1,D-1l
[Option ID = 9465]

68) Match List | with List Il

List | List Il

IA. Secondary Education Commission 1. 1964

B. Education Commission 1. 1952-53
C. National Policy on Education 1. 1976
D. Operation Blackboard V. 1986

Choose the correct answer from the options given below:

g -l FY gt - @ gR T A

g -l =T -1l

A. ATeTfdF farerT srav 1. 1964

B. far&T swara 11.1952-53
C. farar <t Trghig iy . 1976
D. ARAT sAFAIS IV. 1986

19 frg g faswear & @ g savgiAw:

[Question ID = 2368][Question Description = S2_qSNz_PG_ADE_Q68]
1. A-1,B-1,C-1IV,D-1ll

[Option ID = 9469]
2. A-1,B-1I,C-1IV,D- 1l

[Option ID = 9470]
3. A-1L,B-1I,C-1,D-1IV

[Option ID = 9471]
4. A-1L,B-IV,C-1,D-1I

[Option ID = 9472]



Correct Answer :-
e A-Il,B-1,C-1IV,D-1ll

[Option ID = 9469]

69) Match List | with List I

List | List Il

A. The law of proximity |. Learners try to achieve a satisfying endstate of equilibrium
B. The law of similarity and familiarity|ll. Organization in perception

C. The law of closure Ill. View of memory as the persistence of traces in the brain
D. The law of continuation IV. The parts of a stimulus pattern that are close together

Choose the correct answer from the options given below:

T -l FT gt -1 F gaRi fifve

-l = Il
. . I. @9 275 T uf¥ra ¢ gferwrga dsede
A. f& T srw wifFafwdy 1 TR o
;.f;%f;;g; R ¢s Il SAAFATSS AT T Ao
. I, =7 s AT U F5 oxf¥iea arw
C. f& at arw FAIAT o 5T PR
S N—— Iv. f& gred arw Reqag ded 3z e
) KN FATST EHIT

19 frg e faswear & @ gt sac iAo

[Question ID = 2369][Question Description = S2_qSNz_PG_ADE_Q69]
1. A-1L,B-1l,C-1V,D-1l

[Option ID = 9473]
2. A-1I,B-IV,C-1ll,D-I

[Option ID = 9474]
3.A-IV,B-1I,C-1,D-1l

[Option ID = 9475]
4. A-11,B-1,C-1V,D-1I

[Option ID = 9476]
Correct Answer :-
e A-1,B-1Il,C-IV,D-1l

[Option ID = 9473]

70) Match List | with List Il

List | List Il

A. Sarvodaya |[l. Acharya Vinoba Bhave
B. Marthandam |ll. Tagore

C. Bhoodan Ill. Gandhi

D. Sriniketan  |IV. Spencer Hatch
Choose the correct answer from the options given below:

T -l FY gt -1 F gRfra g

gt -l gt -l

A. gEiEaT I sr=rrd fynaT wra
B. ATTAISH, 1. 33T

C. T . st

D. sfifraa+ IV. a9

19 frg oy fasweqt & @ gt sacgfg:

[Question ID = 2370][Question Description = S2_qSNz_PG_ADE_Q70]
1. A-UL,B-1,C-1,D-1IV

[Option ID = 9477]
2. A-1L,B-1,C-1I,D-1V

[Option ID = 9478]
3. A-lILB-IV,C-1,D- 1l

[Option ID = 9479]
4. A-IV,B-1I,C-1,D-1ll

[Option ID = 9480]



Correct Answer :-
e A-IIlbB-1,C-Il,D-1IV

[Option ID = 9477]

71) Match List | with List Il

List | List Il

A. Asian Population Conference 1. 1966
B. Second World Population Conference Il. 1963
C. UNESCO Programmes ll. 1965
D. ILO Programmes IV. 1967

Choose the correct answer from the options given below:

g -l FY gt -1 F gR T v

g -l =T -1l
A. TEATTE TAG =T gTATT 1.1966
B. fgdta forsg st &g aeR e 11.11963
C. AT FTAHA 111.1965
D. FATIT aF ST FTIFA IV.1967

19 frg g faswear & @ g savgiAw:

[Question ID = 2371][Question Description = S2_qSNz_PG_ADE_Q71]
1. A-,B-UI,C-1IV,D-1l

[Option ID = 9481]
2. A-1,B-1l,C-1,D-IV

[Option ID = 9482]
3.A-1,B-IIL,C-1I,D-1IV

[Option ID = 9483]
4. A-11,B-1IV,C-1,D-1Il

[Option ID = 9484]
Correct Answer :-
e A-I,B-1ll,C-IV,D-1l

[Option ID = 9481]

72) Match List | with List Il

List | List Il

IA. Communication and messagingl. Forms, polls, surveys, etc.

B. Visual creation Il. Studio recordings, podcasting, voice recordings

C. Audio creation Ill. Drawings, graphic creations, video editing

D. Data collection IV. Instant messaging, phone, SMS, whatsapp texts, etc.

Choose the correct answer from the options given below:

g -l FY gt - F gR T v

gt -l AT -l

Af' AR | IO, AT, TS &40

e

B. Iy 94T |Il. T fesw Fewifdwr, qrewrieaw, atza feawifew
C. FT=q TIT . gigw, arfes oy, Afear grores

D. TTZT HUE 'a;é@a AR, B, T TH T, TATqUT 7€

13 frg g faswear & @ ggrsav AT

[Question ID = 2372][Question Description = S2_qSNz_PG_ADE_Q72]
1. A-1,B-1,C-1v,D-1l

[Option ID = 9485]
2. A-lILB-1,C-1I,D-IV

[Option ID = 9486]
3. A-IV,B-1Il,C-1I,D-1

[Option ID = 9487]
4. A-1,B-IV,C-1,D-1l

[Option ID = 9488]



Correct Answer :-
e A-Il,B-1,C-1IV,D-1ll

[Option ID = 9485]

73) Match List | with List Il

List | List I

IA. Pedagogy of the Oppressed I. Kidd

B. The Modern Practice of Adult Education|ll. Knowles

C. How Adults Learn lll. Paulo Freire
D. Adult Education and Lifelong Learning |(IV. Peter Jarvis
Choose the correct answer from the options given below:

T -l FT gt -1 F gaRi fifve

gt -l =T -l

A, ST #71 fRrarare I. fs

B. wt® farert &1 swegfarss warr Il FYse

C. Wiz 38 draa & I, 9IS BT
D. stz farer srT ssiae srfdrore Iv. freT Ifag

= fyg g faweai & @ gy sac AT :

[Question ID = 2373][Question Description = S2_qSNz_PG_ADE_Q73]
1. A-Nl,B-1IV,C-1l,D-1

[Option ID = 9489]
2. A-1,B-1Il,C-1,D-IV

[Option ID = 9490]
3. A-ILB-1,C-1,D-1IV

[Option ID = 9491]
4. A-IV,B-lI,C-1l,D-1

[Option ID = 9492]
Correct Answer :-
e A-IIlbB-IV,C-Il,D-1

[Option ID = 9489]

74) Match List | with List Il

List | List Il

A. Length of the test I. The longer the test, the greater the reliability

B. Heterogeneity of group|ll. The more heterogeneous the group, the greater the reliability

C. Ability level group lll. The more objective the scoring, the greater the reliability

D. Objectivity of scoring |IV. Test that is too easy or too difficult for group results in lower reliability|
Choose the correct answer from the options given below:

T -l FT gt -1 F gRi v

=T -l =T -

A, afeeam 1 || afxeror firgar sar grar feagiaar sat &t afys
ety BYaft

B. ggg &1 |l g fraar frwasda g Freagadiaar sat afas
frawsrdtaar grft

;;{_Z:TWHT . e Rra FEQUTH gt rgadiaar saq afds
D. TR #T [IV. ST TEAT STTIT I T SATIT FFST AT § THE F
AEQULHEAT e 3uFt frgw g STAt T sa 1A

19 frg oy fasweqt & @ gt sacgfg:

[Question ID = 2374][Question Description = S2_qSNz_PG_ADE_Q74]
1. A-1,B-1l,C-1V,D-Il

[Option ID = 9493]
2. A-1,B-1,C-1I,D-1IV

[Option ID = 9494]
3. A-1l,B-1I,C-1,D-1IV

[Option ID = 9495]
4. A-IV,B-1Il,C-1I,D-I

[Option ID = 9496]



Correct Answer :-
e A-I,B-1l,C-1IV,D-1ll

[Option ID = 9493]

75) Arrange the following learning system design process in sequential order:
A. Design instructions

B. Analyse tasks and objectives

C. Implement instructions

D. Derive and write objectives

E. Describe the current system

Choose the correct answer from the options given below

FfErre yorrely srforwew wfiear #1378 afeq 7 F F9 § swafeas Nfow -
A. FIRAT FT AFHFET FATT FIAT

B. FTHWTT kT ST 9T &7 g AT

C. AR FT FTITfeaq FIAT

D. IZLAT FT FITIT AT TAGH

E. IS HTT AITAT HT ATEAT FIAT

= g rg fagedt § @ gt ITTHT II7 MfNC

[Question ID = 2375][Question Description = S2_qSNz_PG_ADE_Q75]
1. B,C, A E, D

[Option ID = 9499]
2. B,D,C, A E

[Option ID = 9500]
3. B,C,A, D, E

[Option ID = 9497]
4. E,D,B,AC

[Option ID = 9498]

Correct Answer :-
e B,C,A D, E

[Option ID = 9497]

76) Arrange the programmes in chronological order of implementation:
A. TLC

B. FFLP

C. Social Education

D. Sakshar Bharat

E. NAEP

Choose the correct answer from the options given below

afafReg FTEHAT F1 398 FTATAIIT F FTARATIAT AT FINT ¢
A. Y Ta EY

B. T% TF TH 4T

C. ararfrs farar

D. §TEAT AT

E.Taq oY

= fag 7y fawedt & & 9 ST HT 77 FI™Q ¢

[Question ID = 2376][Question Description = S2_qSNz_PG_ADE_Q76]
1. E,B,D,C, A

[Option ID = 9501]
2. C,B,E,AD



[Option ID = 9502]
3. A,B,ED,C

[Option ID = 9503]
4. C,A,D,E, B

[Option ID = 9504]

Correct Answer :-
e E,B,D,C,A

[Option ID = 9501]

77) Choose the correct sequence of learning ladder
A. Information

B. Knowledge

C. Data

D. Insight

E. Wisdom

Choose the correct answer from the options given below

fRreror FIqTT B FITT P HA AT ST IZATT $L

A. g=AT

B. ST

C. =

D. siTgf¥

E. w97

Fr= fT g fawedi § & 987 ST FT 99 FI9Q ¢

[Question ID = 2377][Question Description = S2_qSNz_PG_ADE_Q77]
1. D,E B, C, A

[Option ID = 9505]
2. B,A,CED

[Option ID = 9506]
3. C,A,B,D,E

[Option ID = 9507]
4. C,D,B, A E

[Option ID = 9508]

Correct Answer :-
e D,E,B C A

[Option ID = 9505]

78) Arrange the sequence in order of developing curriculum and plan of instruction
A. Evaluation

B. Experience

C. Purposes

D. Organisation

E. Goal

Choose the correct answer from the options given below

e &7 1 FAFATdT TTETFT AT AT FTANAAT F FTHTL ALY
A. FFITHFT

B. g

C. S2eT

D. §I5T

E. &7

= fru g faseul @ @ gt ST ST 979 Ff™7



[Question ID = 2378][Question Description = S2_qSNz_PG_ADE_Q78]
1. C,E,D,B, A

[Option ID = 9509]
2. E,C,B,D,A

[Option ID = 9510]
3. B,C,E, A D

[Option ID = 9511]
4. D,C,E,AB

[Option ID = 9512]

Correct Answer :-
e C,E,D,B, A

[Option ID = 9509]

79) Arrange the following five elements of communication models in sequence of their implementation
A. Encoder

B. Sender

C. Decoder

D. Receiver

E. Channel

Choose the correct answer from the options given below

gare atesad & fufafaa o= stagat #1378 F1aifraq Ry & 9 § FafRag v
A. Easal

B. IYF

C. F{T FT IEEAZTTH

D. sraFwat

E. ATeqW (A7)

Fr= fT g fawedi § & 987 STTHT 97 HI9Q ¢

[Question ID = 2379][Question Description = S2_qSNz_PG_ADE_Q79]
1. B,AE,C,D

[Option ID = 9513]
2. A,B,D,C,E

[Option ID = 9514]
3. C,D, A B,E

[Option ID = 9515]
4. E,A,B,D, C

[Option ID = 9516]

Correct Answer :-
e B,AE,C,D

[Option ID = 9513]

80) Arrange the following factors in correct order of a need based curriculum planning model for the education of adults
A. Sociological factors

B. Psychological factors

C. Advertised programme

D. Market demand

E. Resources in terms of human, physical and technical

Choose the correct answer from the options given below

e FTTEt w1 BT F1 Frear T wAvfFe arawww s wisw @ w79 7 awafreg Ao :
A. FRTIATENT FIIF

B. 7N ATIA® H1TH



C. farfaa wrdwe

D. FTATT T ATT

E. AT99, WIfqF, THRATHT T H GTIT

A= R g fFFedt & @ a8t ITTHT I77 MfNC

[Question ID = 2380][Question Description = S2_qSNz_PG_ADE_Q80]
1. C,E,B,A, D

[Option ID = 9517]
2. E,A,D,B,C

[Option ID = 9518]
3. D,AEB,C

[Option ID = 9519]
4. A,B,D,C,E

[Option ID = 9520]

Correct Answer :-
e C,E,B,A D

[Option ID = 9517]

81) Arrange the key events with respect to Robert Gagne's eight-phase model of learning as they occur
A. Acquisition

B. Motivation

C. Generalization

D. Apprehending

E. Retention

Choose the correct answer from the options given below

Frafafag F1aad #7 % FfyTa F sws U Ated F w70 & ey FfvQ .
A. ot

B. srfsazor

C. ATATATHTT

D. srTaTE

E. STaETTT

Fr= feg g fawedt & @ 97 STTHT 77 FI{9T ¢

[Question ID = 2381][Question Description = S2_qSNz_PG_ADE_Q81]
1. D,B, E, A, C

[Option ID = 9521]
2. A/D,B,C E

[Option ID = 9522]
3. B,D,AE, C

[Option ID = 9523]
4. A,B,D,C,E

[Option ID = 9524]

Correct Answer :-
e D,B,E,AC

[Option ID = 9521]

82) If training comprises of three stages which of the following make a correct sense :
A. Snowball

B. Action perspective

C. Case study

D. Goal setting

E. Planning and programming

Choose the correct answer from the options given below



iAo AT ATT AT § AT BIATE AT SART AT FHA FATE &
A. ®XTTH

B. TFerT qe e

C. Y sreqaw

D. e gfeT

E. ST TF F1d %A fAgfor

Fr= frw g fawedi § @ 987 ST HT 97 FI{9Q

[Question ID = 2382][Question Description = S2_qSNz_PG_ADE_Q82]
1. A, B, Conly

[Option ID = 9525]
2. B,C, Eonly

[Option ID = 9526]
3. A, D, Eonly

[Option ID = 9527]
4. B, D, Eonly

[Option ID = 9528]

Correct Answer :-
e A B, Conly

[Option ID = 9525]

83) Arrange the following learning factors in sequential order
A. Emotion

B. Experiences occurring as a result of disjuncture

C. Action

D. The whole person

E. Reflection

Choose the correct answer from the options given below

rafafReg aftra s1est w1 Farga g ffSw .
A. §3T

B. €Y - is7 & afxormaeasy gRaTH ATAT

C. &Td

D. g¥yef =fxw

E. wfafass

= g 7y fagedt § @ qgt ITTHT II7 MfNC !

[Question ID = 2383][Question Description = S2_qSNz_PG_ADE_Q83]
1. B,C,E, A, D

[Option ID = 9529]
2. D,B,E A C

[Option ID = 9530]
3. E,D,B, A C

[Option ID = 9531]
4. C,E,B,D, A

[Option ID = 9532]

Correct Answer :-
e B,C,E,A D

[Option ID = 9529]

84) Arrange the following factors of knowing process in sequential order
A. Interpretation
B. Experience

C. Knowledge



D. Previous knowledge
E. Observation

Choose the correct answer from the options given below

fafafas a7 whrarst 1 sargaTe swafag fifso .

A. fad=w

B. WA

C. w1

D. ga=T

E. stasdra

1= feg g fawedt /@ & ot ST HT 977 AT

[Question ID = 2384][Question Description = S2_qSNz_PG_ADE_Q84]
1. A,B,ED,C

[Option ID = 9533]
2. D,E,AC,B

[Option ID = 9534]
3. D,E B, A, C

[Option ID = 9535]
4. B,C,D,E A

[Option ID = 9536]

Correct Answer :-
e A B,E,D,C

[Option ID = 9533]

85) Arrange the following set of principles for programmed learning in order of Leythann's suggestions
A. Each new stage should only introduce sufficient new materials to ensure that is not too difficult

B. Aims and objectives should be clearly specified

C. Students should be active learners

D. Materials selected for learning should relate to aims and objectives

E. Students should work at their own pace

Choose the correct answer from the options given below

99 & gATAT B sy 9 Frufafas ardwtha afywy Rgiat 1 swafRag fifsg -

A. TAF AT IO | 918 T8 G199t S 1 arfw ag gfafaa ey s fragaga sfsaadi g
B. w&q T I2¢7 TwEq: fafafee giv =rfeg

C. fo=rratat &1 afing sifamrwsat gt a1fyy

D. srfyrw & forg wafag wrady SR e dx wea & g fg i 91w

E. ferarratat &1 srqw w97 #11 wfq /@ &7 weAr avfre

A9 frg g fasea & & 9 sweHT 977 fA™T:

[Question ID = 2385][Question Description = S2_qSNz_PG_ADE_Q85]
1. B,C,E,A, D

[Option ID = 9537]
2. A,D,CEB

[Option ID = 9538]
3. B,D,AEC

[Option ID = 9539]
4. A, B,E C, D

[Option ID = 9540]
Correct Answer :-
e B,C,E,A, D
[Option ID = 9537]



86) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Gender equality is a constituent of development as well as an instrument of development.

Reason R: Inequality between girls and boys in access to schooling or adequate healthcare proves a very serious
disadvantage to women and girls and limits their capacity to participate in the benefits of development.

In light of the above statements, choose the most appropriate answer from the options given below

TR A FITRCACE : TF ATHFIT (A)  F7R HAIGTE TT U ITR T (R) S FI4H ¢
FfAFIT (A) : SSTHAFATAAT FAFTA FTHT/ TTF IR+ 1T - ATT ST (AFTH FTITHIO AT

FTXO (R) : FEfHAT AT ASTHFT F A= A7 A@ATTATY THAT FART TT ITYTH Tareey ghagrsit 75 ST 05+, A<t sk agfvay &
g i w78 grivses arfaa grdt & 97 fHF1a $ arai ® STE TSt F1 a9ar w7 g w3t g

STUF FIAT D AqaATH A, 19 QT AFAT | § @ STLH ST HT T FIHVC ¢

[Question ID = 2386][Question Description = S2_qSNz_PG_ADE_Q86]
1. Both A and R are correct and R is the correct explanation of A/(A) 3ii¥ (R) 21 @&t & 3fT (R), (A) F¥ 72t =847 §

[Option ID = 9541]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3% (R) T 5l & T3+ (R), (A) FT F&T =ATEAT 7Tl &

[Option ID = 9542]
3. Ais correct but R is not correct/(A) figr & w=q (R) &l &l §

[Option ID = 9543]
4. Ais not correct but R is correct/(A) #&r &1 & 7%= (R) T&r &

[Option ID = 9544]
Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) ¥ (R) Z¥1 @&l g 3% (R), (A) T @27 =AT=AT &

[Option ID = 9541]

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: As a signatory to UN's Sustainable Development Goals (SDGs), India is committed to fulfill these goals by 2030.

Reason R: Increasing population, poverty, gender-based violence, etc. are some of the impediments in achieving SDGs
before India.

In light of the above statements, choose the correct answer from the options given below

A Y wuTfRuawd : uF AfFsaT (A) P 7R fAfaa @ 97 @ S9d w10 (R) F &R ¢

afyrswad (A) : 97 U * Hdwriors faera weat (qa 1 1) 9T gearawal & T d q7G a9 2030 TF T ALHT FT LU LA 7
farafaag &

HTIW (R) : TgdT TG Edr, T8, 7w - swariva fEar arfe ag & a9q g & S g w37 & 91474 §
STUT ®IA1 B ardls &, 9 fag 1y Fweq § @ 999 STLH ST HT 77T 1907 ¢

[Question ID = 2387][Question Description = S2_qSNz_PG_ADE_Q87]
1. Both A and R are true and R is the correct explanation of A/(A) i (R) FT &1 & 3T (R), (A) F¥ #&l =1EaT

[Option ID = 9545]
2. Both A and R are true but R is NOT the correct explanation of A/(A) % (R) 24T @&t & 7=q (R), (A) T FET ==maT 7271 8

[Option ID = 9546]
3. Ais true but R is false/(A) &7 g %] (R) sIET T

[Option ID = 9547]
4. Ais false but R is true/(A) e § 9% (R) 7 &

[Option ID = 9548]

Correct Answer :-

e Both A and R are true and R is the correct explanation of A/(A) 3% (R) Z=T T&T & 3T (R), (A) FT 7T =AmeaT 8
[Option ID = 9545]

88) Given below are two statements

Statement I: The root cause of social insecurity in India is poverty and that is largely due to a lack of adequate or productive
employment opportunities.

Statement Il: The patterns of economic development in India since 1947 has left in its trail a variety of inequalities that
have caused socio-politico tensions.

In light of the above statements, choose the most appropriate answer from the options given below



fa ST Fga e :
FIT - | : ATIT A GUATIHNF AT FT LT FTIIW TOFT & AT I AT T I AT & qATH T ITATEH ATAL F1 FHT & HTIA
2

FAT - |l : G 1947 F A1 | anfs fFwra 3 wfoswad § qux (a8 iy ggaraara €7 gra st |, g ararfsrs,
THAI® qa1at * 7 =7 {278

STUF FIAT D AqaATH A, 2 Q7T AFA | | G99 STLH ST HT AT FIHNC ¢

[Question ID = 2388][Question Description = S2_qSNz_PG_ADE_Q88]
1. Both Statement | and Statement Il are correct/®9 | =% || ST @&l &

[Option ID = 9549]
2. Both Statement | and Statement Il are incorrect/® = | 3ii¥ || =T TeAT &

[Option ID = 9550]
3. Statement | is correct but Statement Il is incorrect/®=w | @2t & , feq Faw |l TA7 3

[Option ID = 9551]
4. Statement | is incorrect but Statement Il is correct/®a | Taq g , foeq Fa || #&l €

[Option ID = 9552]
Correct Answer :-
e Both Statement | and Statement Il are correct/=® | 3fiT || ZII1 @& &

[Option ID = 9549]

89) Given below are two statements

Statement I: Communication technologies enable institutions to extend the benefit of new knowledge which is being
generated and accumulated at a rapid pace.

Statement Il: Dissemination of knowledge through conventional face-to-face interaction is time-consuming, but through
modern communication technology, both distance and time become manageable.

In light of the above statements, choose the most appropriate answer from the options given below

A9 ST wuTfrgawd :
FIT - | : AT IFATS GEATAT BT AT FTT FT ATHT FT 874 | g9 9797 & 97 o g vfy & Scow sz gsa v W@ 8

FAT - |l : STHAR - ATAR HY qILEATF FHAT G 1A FT AT AATGIF €T & THY @4 HAT § 99 % swgfas =< avArai
T A ATATT AT KT IS8T Y ATAT ]

SYUT FIAT B AT A, A9 f¥T 1w fAweqi § § 999 STLF ST FT AT F197

[Question ID = 2389][Question Description = S2_qSNz_PG_ADE_Q89]
1. Both Statement | and Statement Il are correct/®= | < || FT AL &

[Option ID = 9553]
2. Both Statement | and Statement Il are incorrect/®= | &< || FT 7T &

[Option ID = 9554]
3. Statement | is correct but Statement Il is incorrect/®97 | @& § , freq Fa7 Il 77 B |

[Option ID = 9555]
4. Statement | is incorrect but Statement Il is correct/F+ | a7 2 , faheq w9 || 7T 2

[Option ID = 9556]

Correct Answer :-
e Both Statement | and Statement Il are correct/®a | 3i< || T 72T &

[Option ID = 9553]

90) Given below are two statements

Statement I: The present thinking on adult education is based on the assumption that illiteracy is a serious impediment to an
individual's growth and country's socio-economic progress.

Statement Il: Adult literacy was a literacy drive for the age group of 14 years and above and was mostly limited to 3 Rs.

In light of the above statements, choose the correct answer from the options given below

A= T FIA RUACE -

FI7 - | : Wz fraT &1 AT v 39 SATA77 92 wearia g O foeawar us =% 3 fFwra sk o o qrafsrs - sufds i &
T ITYT/ TFTACT 7



HAT - || : TIE ATHAT 14 99 T ITR FUL D g T # T TF Grea<ar af¥rara av T sy srferwiera: 3 Rs 9% @i a7
STUT HIAT B ardls /@, 9 fEg 1y weql § @ 999 STLH ST FT AT F19(7 ¢

[Question ID = 2390][Question Description = S2_qSNz_PG_ADE_Q90]
1. Both Statement | and Statement Il are true/#a | &Y || FT G &
[Option ID = 9557]
2. Both Statement | and Statement Il are false/Fa= | 3% || 7 3197 &
[Option ID = 9558]
3. Statement | is true but Statement Il is false/F=¥ | 7e7 g , Foheq o Il s

[Option ID = 9559]
4. Statement | is false but Statement Il is true/®=¥ | 379 g , foheq o Il A7

[Option ID = 9560]

Correct Answer :-
e Both Statement | and Statement Il are true/®a | &% || =T 77 &
[Option ID = 9557]

Topic:- 46AE_B

1) Read the text carefully and answer the five questions that follow

The learning organization is different from bureaucracy, not because it does not have a hierarchy, but because the
hierarchy have learned to create more open procedures for information processing so that they can facilitate or implement
directly the outcomes that they and others in the organization have learned. The learning organization is the antithesis of
the bureaucratic organization in the sense of having more responsive management in implementing new procedures and,
maybe, in creating a slightly flatter organization so that information can flow from bottom to top, and vice versa, more
quickly. But it is not different in the oligarchic sense; the changes have been forced upon those who occupy places in the
hierarchy by the forces of global capitalism, which demand that productive organizations become more competitive in order
to survive. It is the hierarchy that has to implement new procedures and persuade the workers to adopt them, even to go
to additional education and training so that they are better equipped to do so. But as most of the literature about learning
organizations is written by management theorists for practicing managers, the issues of power and control are not as
significant since these can be assumed. Rather, their concern is in producing results, so that most of these studies
concentrate on generating the procedures that will enable the organization to become more profitable - ultimately for their
shareholders' benefit. Consequently, the emphasis now transfers to leadership! Nevertheless, one can note a fundamental
weakness in these as academic studies of organizations. An interesting paradox emerges from this - that in order to be
effective and efficient in a competitive world, those within the organization need to be open and share with each other.

frafafeg weaia #7 aEagrigds a2 = oo st $ 59 :

forerw €95, ATHIATR 9@ A AT ], YAT SATAT AR § [ TUH IS TITLHA Aol gIdT g q(oF TATAY @ T Srgid T&TIH §
FIATHA & THERT B forw gat gt w1 Fafo w31 g forar @ e SvEiR shTd7sT & gar A9t 3 91 18 @191 § 393
gaforTal #1 €78 a AT wTaifeaa s ad ferar dwsq, atacardt gwsw & 59 o 7 f4wda grar g fr za8 7 ghsara =1
Frafeaas § afars sgfrarsfia vdga Erar € shT g aFar g v 37 G757 1 7517 £ - £F I7ICH THE D G757 #7 g1 aTf%
FIATE 19 & FIT HT ML AT fFyaroa: afes digar @ yvarfea gy a8 =g ag gaaa a7 adf 7 e 9 gran g, 3%« {Sfare
1 afFaat g1r afvad T 7 A 9T A fQ 1 § ST T=7FT F 9%l F7 G007 R @ g, 99 v aftasy § a7 w3 g
ITATTH ST BT AT TTAETET AT AT T ATAT g GIATIVHRT HT T T TORATIH AT HTAT e TT HIAT A FTAATA HT I7g
FaaT & forg TS /A7 AT ], qgt aw 5 afafes fRrar s i yra 7@ @ forg s s @ar @ arfs 3 i gar s
& frg agaT ada @ weltwify dare gl aeq % freror garai & IR |/ iy arfger Iqax v g+t 3 7995 a9 3
Rrgiast g1 foe w1 € gafere af3e sz faaw @ 99 g8 s aggagel 78 g #21 % g7a a & seaar 1 o7 g5t
g AT 9T, ITHT AT aformat w7 aF T & ahF g9 F AfAFi e sreqT T AwfFAT AR Fr A HFAE AT IS 2
Rraw GwsT w1 Af&rs TITHRT FT AT ATT: AAXHTHT F7T ATAF ATH BT TP TIROTACTET THAFT T AT I ATTLT 8T FTAT &
g, 9wt 3 AT Ae777 3 T I IR GF FHAT IGETATIFATE 99 TF AT (qUTHATH GTHA 0AT§ - I3 TF
vfaeasT fors & 1T e Ffgad a7 @ & g dwea & Sl & gargw a7 Arfge T uF @ § orqa =37 s v a1ar
HLAT ATIRT

Distinctive feature of learning organizations is:
afyww gwsT #1 eqw AT g ¢

[Question ID = 1691][Question Description = S2_qSNz_PG_ADE_Q91]
1. Resisting openness /g FT SfA<rer FIAT

[Option ID = 6761]
2. Open procedures for information processing /=T SEERoT & forw geft s

[Option ID = 6762]



3. Astrictly defined and innovating organization/z#® @&l o2 ¥ TR ¥ AAT=HT e oTHa &

[Option ID = 6763]
4. More like any other organization/=g 37+ T¥a & HHI & &

[Option ID = 6764]

Correct Answer :-
e Resisting openness/ed &T TAwIe FTAT
[Option ID = 6761]

2) Read the text carefully and answer the five questions that follow

The learning organization is different from bureaucracy, not because it does not have a hierarchy, but because the
hierarchy have learned to create more open procedures for information processing so that they can facilitate or implement
directly the outcomes that they and others in the organization have learned. The learning organization is the antithesis of
the bureaucratic organization in the sense of having more responsive management in implementing new procedures and,
maybe, in creating a slightly flatter organization so that information can flow from bottom to top, and vice versa, more
quickly. But it is not different in the oligarchic sense; the changes have been forced upon those who occupy places in the
hierarchy by the forces of global capitalism, which demand that productive organizations become more competitive in order
to survive. It is the hierarchy that has to implement new procedures and persuade the workers to adopt them, even to go
to additional education and training so that they are better equipped to do so. But as most of the literature about learning
organizations is written by management theorists for practicing managers, the issues of power and control are not as
significant since these can be assumed. Rather, their concern is in producing results, so that most of these studies
concentrate on generating the procedures that will enable the organization to become more profitable - ultimately for their
shareholders' benefit. Consequently, the emphasis now transfers to leadership! Nevertheless, one can note a fundamental
weakness in these as academic studies of organizations. An interesting paradox emerges from this - that in order to be
effective and efficient in a competitive world, those within the organization need to be open and share with each other.

frefafaa g &7 aragrigd® 92 s A= fRrg T a9t % 39T :

forerwr garse, AYHTATE @ THF AT |, AT TAfHT AT § O T9F FIE qqraHA g1 graT g 9w zaftay g O s wwrgsw
AT & THERLW & FT gt wiwear w7 At w3971 @@ faa1 2 arfen STgiv shiT a7 & qa @l 4 91 §F 19T 8 S99
gofumat #1 €tg A a wraifeag sxad frardwsa, Frwardt dweT @ 9 oo 9 faada grar & ¥ sad 9 afearst a1
Frateaaa ® safrs agfrarsiia v aa grar g shT g1 aFat g F 39 a7 #1 7517 §7 - £F I7ICT THX F G759 #7 g1 aTf%
FIATE {19 & FIT HT T < fyetroa: afys digar @ yvarfea gr a8 wg a8 gaaa 17 af 7 firer 71 grav g, 3w {Sfare
1 afFaat g1er afead T IT AT 9T AT T 1 § ST I=7FT A 95l F7 G0 Ry @ g, 9 fuv afRasy @ a7 w3 e
IATEF ST F T AT TTAETeT 77 AT T FATATE AIATIAHT F7 &1 TE TORATSH FT FTATTT FIAT AT FTANTA F71 375
AYAT & AT ST FIATZIAT ], TGT qOH [ FTATCH TR&AT ;T TIRAAT ATH FLA & A TS FIATZIAT @ ATTH q AC AT FLA
# frT Igar adis @ aftaifa AT g aeg A1 forggor st & aR § sifywi o arfgey IAa g+l 3 7% avf
fRrgiasrt g1 foe w1 € gafere af3e s faaw @ 95 g8 s agagef 7l gra #21f% g7 a1 & Seaqr 1 o7 9wt
2 TEET awrE, AT rar afcorat w7 a5 et & arfe 399 @ afyrwia sreggw 1@ afpararfgcr Ardaes@ wafka g @
Rra® dws7 w7 Af7s TITRT T HT AqT: ATTGTTHT T ATAF ATH T 0D TROTHTAET THFHT T AT T AT T ATAT R
Fredeg, 9T @ GfNF Ae7T7 D T AT TAH A FIAAT IETATAFAT 8 TG TH AT (AAGTHTH GTHA Aarg - FFus
gfueae faa § FTET AT FARAT 7 W  fHAC FTST & TN/ AT AT ALY T TH g | 07 =773 F7 G7AT
FIAT ATRTY

Which of the following from the text is true?

grs & fawfafaa a8 ) stTaraa §:

[Question ID = 1692][Question Description = S2_qSNz_PG_ADE_Q92]
1. The organizations are forced to open up to remain competitive/s s Sfaeref a7 vea & forw gar ve= & forw arer g 2

[Option ID = 6765]
2. The organizations need to keep resisting in order to survive/Ta+1 %7 a7 Tgd % forw YA<re v T T saea=HdT gral &

[Option ID = 6766]
3. The organizations' resistance has provided an edge to them/& Tt % wfa<re & 3w qfaem war fFar g

[Option ID = 6767]
4. The organizations are structurally and functionally dynamic /e Hv=rreaa 3f® & w4 & 3f¥ & weftefie gra &

[Option ID = 6768]



Correct Answer :-
e The organizations are forced to open up to remain competitive/ETsa Tfaeaeff a= w2 & forw gor w2 & forw arer g 8

[Option ID = 6765]

3) Read the text carefully and answer the five questions that follow

The learning organization is different from bureaucracy, not because it does not have a hierarchy, but because the
hierarchy have learned to create more open procedures for information processing so that they can facilitate or implement
directly the outcomes that they and others in the organization have learned. The learning organization is the antithesis of
the bureaucratic organization in the sense of having more responsive management in implementing new procedures and,
maybe, in creating a slightly flatter organization so that information can flow from bottom to top, and vice versa, more
quickly. But it is not different in the oligarchic sense; the changes have been forced upon those who occupy places in the
hierarchy by the forces of global capitalism, which demand that productive organizations become more competitive in order
to survive. It is the hierarchy that has to implement new procedures and persuade the workers to adopt them, even to go
to additional education and training so that they are better equipped to do so. But as most of the literature about learning
organizations is written by management theorists for practicing managers, the issues of power and control are not as
significant since these can be assumed. Rather, their concern is in producing results, so that most of these studies
concentrate on generating the procedures that will enable the organization to become more profitable - ultimately for their
shareholders' benefit. Consequently, the emphasis now transfers to leadership! Nevertheless, one can note a fundamental
weakness in these as academic studies of organizations. An interesting paradox emerges from this - that in order to be
effective and efficient in a competitive world, those within the organization need to be open and share with each other.

fafafag weia #7 aragriqgds 92 shT = R Tr st 3 59 :

fareror gwrse, AYFaTd @ 9w grar g, var safag At g fo 399 F1E wargwa 9t grar g afew safag @ 3 svgiv wargaa &
FIATSA ® THERT # forw gt afewar w7 Faton 391 g a1 & qrfF S8R shTg7s7 & qur @9t F 1 7 €191 § 93
TofuTEt 1 €8 AT I FTIiTag FT TR fUar w37, FTrHard ¥wsT & 3 7 7 fAwdra Srav g O uw T afeavsi w7
FratraaT ® afrs srgfrardia vd g grar & shT 7 awar & O 59 g7 311 751U §7 - £ ATIGT TFHX D 75T #7187 qr1fF
FIATE 19 § I FT AT AT Ao dfers raar @ garia gr aa W I8 gaaaa17 af |/ 3 91 grav g, s {sfare
#Ft arfFaat gran afad T 9 4 X A9 R Sra @ 9 9T FT § 937 F 7 g7 TR g €, 19D g afRaca 7 97 @R @ g
IqTER HASHT HT Afw wiaeqelf 977 sraea® gy Irar 8 Ararfasdy &7 ¥ 7€ afngred &1 ®raf~a 77 AT kT FTAMTI ®T 373
FaaT & forg TSt w37 grav ], agl aw 5 afafes fRrar sie wfrgn wra 557 & g s 337 grar & arfs 3 i gar s
& frg 3gae ads & gl aify dare gl w=eg 5 foreor dasi & IR |/ sfysia arfgey Iqdax v a6t & 159 a9
Rrgtastd 5137 i 917 § iy af shx Ffaaw @ 9507 g8 Sad agaqel 781 gid #1176 78 q | Feqa1 H1 SI7 GHdt
g TEET T, ITFT Har aformat F7 aFT AT & ah% 399 F AfaFia AegaT T AiHa1 quigeg ST I3 Fs| waHa e g
Rrad d@wsT w7 AT4F TATHRT T A< ATT: AATITHT F7 ATAF ATH g1 39D TIOUTHEAET THFHT I AT I AT T ATAT &
fedag, el @ 9T Aeaa7 3 AT @A A AT I AT AFATE WA TH AT (AN GTHA QAT - FH U
siyerdT forg /@ FTTR AT FERAT 97 @R 3 fAg dasT & At & gt a1 A7y i gs gaR @ o9 =1 «1 arar
HIAT ATIRT

The changes in organization have been forced by

gwed & ufxad« frar sirar Mafafaa ® graarsg s fRaraar g :

[Question ID = 1693][Question Description = S2_qSNz_PG_ADE_Q93]
1. Internal desire/=mafy= z=a1

[Option ID = 6769]
2. Market forces/=TsT<T gt

[Option ID = 6770]
3. Political pressures/TTsIH T ZaTa

[Option ID = 6771]
4. Community pressure/ﬂT&E‘lﬁ'eﬁ ECIch

[Option ID = 6772]

Correct Answer :-

e Internal desire/aTd e =37
[Option ID = 6769]

4) Read the text carefully and answer the five questions that follow



The learning organization is different from bureaucracy, not because it does not have a hierarchy, but because the
hierarchy have learned to create more open procedures for information processing so that they can facilitate or implement
directly the outcomes that they and others in the organization have learned. The learning organization is the antithesis of
the bureaucratic organization in the sense of having more responsive management in implementing new procedures and,
maybe, in creating a slightly flatter organization so that information can flow from bottom to top, and vice versa, more
quickly. But it is not different in the oligarchic sense; the changes have been forced upon those who occupy places in the
hierarchy by the forces of global capitalism, which demand that productive organizations become more competitive in order
to survive. It is the hierarchy that has to implement new procedures and persuade the workers to adopt them, even to go
to additional education and training so that they are better equipped to do so. But as most of the literature about learning
organizations is written by management theorists for practicing managers, the issues of power and control are not as
significant since these can be assumed. Rather, their concern is in producing results, so that most of these studies
concentrate on generating the procedures that will enable the organization to become more profitable - ultimately for their
shareholders’ benefit. Consequently, the emphasis now transfers to leadership! Nevertheless, one can note a fundamental
weakness in these as academic studies of organizations. An interesting paradox emerges from this - that in order to be
effective and efficient in a competitive world, those within the organization need to be open and share with each other.

fafafag weia #7 aragriqds a2 T3 fRrgag st $ 59w :

forerw €95, ATHIATR @ A AT ], YAT SATAT AR § 1 TAH FIS TITLHA Aol gIdT g q(oF IATAY & T Srgid GQTIHT §
AT F FEEReor d g gt wfwar w1 famto war e foar @ arfe sEia stcdwsT & @R @ 3 1 73 a1 g S99
gaforTal #1 €78 aiT A wraifeaa s ad frar dwsq, Atecardt gwsw & 34 o 7 fAwda grar g i zaw 7 ahisara w71
Frateaay § qaftrs sgfrarsia v ga grar & sk g aFar1 g P 39 a7 1 7510 §F - £ I7ICH THX F G759 7 g1 aTf%
FIATE {19 & FIT AT ML T fyroa: afas digar @ varfeg gy a8 =g a8 gaaa 317 adf 7 3o 71 gran g, 3%« {Sfare
1 afFaat g1 afead T IT AT 9T AT T 1T & ST T74FT d 720 F7 G707 67 @ g, 9% (v aftawg 4 a7 w3 g
ITATIH ST 1 F1qF Tireae§ aqar sraegw gy qrav g ararfady w1 & 7 shearst w1 FrafeagT S0 T FTAAN F1 377
FaaT @ forg TSy A7 AT ], qg @ 5 afafes fRrar s i yra 7 @ forg sy sTam@ar g arfs § v gar s
& frg agar ads @ weltwify AT gl aeq 9% fareror garai & IR | srfyaier arfger Iqax v g+t 3 759 a9 3
Rrgiast g1 foe 1 € gafore af3e s fadaw @ 95 g8 s agagel 7 g #10% g7a a1 & seaqr 1 o7 95t
g AT T, ITHT AT aformwt w7 aFC T & arhh 799 T AfAFi e sreggT T AwfFpAr AR AT AT HFA AT 9 2
Rra® dws7 w7 Afrs TITRT T KT i qT: ATTGTTHT F7 ATAF ATH T T0@P TROTATAET THFHT I AT I H AT T ATAT |
g, gt 3 AT Ae977 B T I IR G FHAT IGTATTFATE T8 TH AT (qUTHTH GTHA 0AT§ - I3 ¢F
gfaeaeT fag § FTEOT AT FAFAT a7 @ & fACFTST & FOMT §H AT AT AT AT TH gL § A9 7T 67 A7AT
HLAT ATIRT

What is true about the management of learning organization, as per the text?

TS F ATATE FTIATH G373 THhGT S IR A FATHA G

[Question ID = 1694][Question Description = S2_qSNz_PG_ADE_Q9%4]
1. Academic arguments coming from managers/Sifar @ Jaer T 70 o1 3

[Option ID = 6773]
2. Managers are following the academicians/s&ers TfRuaHaedl HT ATHAT F7d &

[Option ID = 6774]
3. Both managers and academicians are at variance /=&t 3iT aRueHe=t § waferaar gt &

[Option ID = 6775]
4. No such argument created/TaT F1E T gford qg1 (77 STAT

[Option ID = 6776]

Correct Answer :-
e Academic arguments coming from managers/$tfersh T Serer g7 RU ST §
[Option ID = 6773]

5) Read the text carefully and answer the five questions that follow

The learning organization is different from bureaucracy, not because it does not have a hierarchy, but because the
hierarchy have learned to create more open procedures for information processing so that they can facilitate or implement
directly the outcomes that they and others in the organization have learned. The learning organization is the antithesis of
the bureaucratic organization in the sense of having more responsive management in implementing new procedures and,
maybe, in creating a slightly flatter organization so that information can flow from bottom to top, and vice versa, more



quickly. But it is not different in the oligarchic sense; the changes have been forced upon those who occupy places in the
hierarchy by the forces of global capitalism, which demand that productive organizations become more competitive in order
to survive. It is the hierarchy that has to implement new procedures and persuade the workers to adopt them, even to go
to additional education and training so that they are better equipped to do so. But as most of the literature about learning
organizations is written by management theorists for practicing managers, the issues of power and control are not as
significant since these can be assumed. Rather, their concern is in producing results, so that most of these studies
concentrate on generating the procedures that will enable the organization to become more profitable - ultimately for their
shareholders' benefit. Consequently, the emphasis now transfers to leadership! Nevertheless, one can note a fundamental
weakness in these as academic studies of organizations. An interesting paradox emerges from this - that in order to be
effective and efficient in a competitive world, those within the organization need to be open and share with each other.

frafafag meia #7 aragrigds a2 T = koo st $ 59 :

forerwr garae, AYHTATEr @ T AT |, AT TN AT § O S99 FIE AQ1aHA 87 grav g 9w zafay § i segia wwrasw §
AT F gaerewr d g gt wfwar w1 famto a1 e foar @ arfe sEia st dTsT @ @R @ 1 S 73 1971 8 S99
gaforTat #1 €78 T AT wTaifeaa s as f3rar dwsq, Atecardt gwsT & 34 oo 7 fqwda grar g i gaw 7 ghsarst &1
Frateaay § s safrarsiia v aa grar g shT g aFar1 g F 39 @77 #1 7517 §7 - £ 79T THX F G759 #7 g1 1%
FIATE 19 & FIT AT ML < s afys digar @ yvarfea gy ad =g a8 gaaa 717 af 7 e 71 grar g, 3w {Sfare
1 afFaat g1er afead T IT AT 9T AT T 1T | ST I74FT d 720 F7 G707 67 W@ g, 9% v afkasg a7 w3 g
IATIF ST H T ATAF TTACTEHT AT ATLTF T FATAT 5 AIITINHT FT T TE TORATSH HT FTATTTT HIAT AT FTANTA F7T 375
AYAT & TAT ST FIATZIAT ], TgT qF (9 FTATCH (AT ;T TIAAT ATH FEA & A TS FIATZIAT @ ATTH q AI( AT HLA
& g 3gaTads & weltwify dare gt aeg % freror daraei & aR & srfysier arfgey Ao v g+t 3 I59F a9 3
Rrgias<t g1 foe w1 € gafog af3e shx faaw @ 957 g8 s agagel 7l gra #2010 378 a1 # seaqr 1 7 a5t
& TUET T, ITFT AT afcorat w7 a5 T & arf 399 T afgrwia sregaw @ wfFpgTarfgcr fr 3o s@ wafa g 8
Rra® dws7 w7 Af&rs TITRT T KT S TT: ATTGTTHT 77 ATAF ATH T 0D TROTHETAET THAFHT T AT T AT T ATAT
Freddg, 9T @ AT Ae7T7 B T AT AN A FIHAAT IETATAFAT 8 TG TH AT (AAGTHH GTHA AqAT® - U=
gfuee farg § FTET AT FTARAT I3 @ AT FTST F M0 § GAOIT AT ALY T TH g | 0+ =713 /7 4787
FIAT ATRTY

What is correct about learning organizations?

A. They are hierarchical

B. They are true copy of the bureaucratic organization

C. They are the antithesis of the bureaucratic organization
D. They are a responsive organization

Choose the correct answer from the options given below:

AFATTHTETH IR A FATAT

A. T qETIHAF Ea &

B. ¥ STHITET & o7 & qeq wiaferiy gra &
C. T ATHATE §759 & Ifq - ATATIAT Zra &
D. ¥ ITTIA ITH IS 31 &

= fyg g fyweat & @ gt S ¢

[Question ID = 1695][Question Description = S2_qSNz_PG_ADE_Q95]
1. A, Band C only/#a= A, B #iT C

[Option ID = 6777]
2. B, Cand D only/#a B, C 3z D

[Option ID = 6778]
3. A, Band D only/#a A, B fiT D

[Option ID = 6779]
4. A, Cand D only/#a7 A, C 3w D

[Option ID = 6780]

Correct Answer :-



e A, Band Conly/#a A, B 3T C

[Option ID = 6777]

Topic:- 46AE_C

1) Read the passage carefully and answer the questions that follow

The need to launch a "major social motivation and mobilization campaign that would propagate the benefits of literacy
and handicaps of being non-literate" indicates that the new Mission tool the issue of lack of interest among the learners
rather seriously. There is a fear that the approach could repeat the response in terms of "enjoy the fun while it lasts" from
the Kala Jathas with very few learners coming for the actual literacy programme.

What is very crucial to adult illiterates is to identify what hurts each individual with no literacy; the common denominator
derived from that kind of an effort must form the core of that social motivation, not a general campaign on the benefits of
literacy. The adult illiterates suffer from a peculiar, at times individual, disadvantage on account of illiteracy in their social
and geographic contexts and they would want to overcome that disadvantage to carve out a new identity for themselves
through the learning of literacy skills. The promise of engaging the adult learners, both unwilling and willing, in a dialogue
on the benefits of literacy is something new; it will be interesting to see how the whole thing will be operationalized. The
Mela-like euphoria makes it somewhat difficult to undertake such a dialogue with the adult learners.

It brings back the Adult Education Centre (Lok Shiksha Kendra) in a big way since the earlier experience clearly indicated
that not many volunteers were willing to shoulder the instructional responsibility under the programme. Volunteers would
be used wherever it is necessary and are available. The revival of an organized learning location within each village was
necessitated largely on account of the multiple activities that were planned for the female learners.

frafafeg maia #7 eamgf afzg T 93 srgr o frr v w0t ST ffvrw :

"TF FATTF TATISS AT ST AT ATHAT forad ACqET qra<qT & UTH graars TLiararsh a1 A< gra 71 ara7si w7
TATE TATT GIAT" T SILAFAT & 7 7= &7 fawqor grar § £ ¢ fraa & sfyrn wafsi @ afv=wf 2 swra 2 q7 71 scafys
TficargEd® forar w7 g R saSTa @ "gud quTIT 9T T sr A d U P dadf 7 wrer sra7 @ srqiea o gaog iy g awdt
2 Fra# areafas araar #1959 g st aferasaf agasa gia &

iz gy = fwat & e ga a9 71 ~feag sar aga 7gwaqe @ v waas fMrassatw s g fisa Aesrad g, sa =<
FIITH & SLEIH ATATT FATHATT AUATHAT AP AATOT 7 T o0 AT AT A7 36 Arer7ar @ Sraama a9 # G5 7§ qravey
Ffrara wtg AT TfFFT *7 a3 0 g aratiys st arnfas g 9 fafyy, a3 afwra ate o ag iy
FTHTAAT FIAT TEAT g T ATAIAT 1A ATATH F AT & F ATAT Af¥7AT I°77 F {90 397 wiogaar & fH4s0aq a7 [mg
Ff=g® AT Tog® AT N ATATHHRATA B GTT GTHALGTE AT ATH P I H AT TIT HAATIOT & ; TG I@AT faea=eq
1T T 37 918 NS a9UET § 5w ww wraffeag fearsirar g 91 - aga qE@ary & 10 Wig Afrawatsn $ a1 39
TG HTHATT HIAT ATST TSR G ATAT §

TR KACTET TIEFAAT I (ATF fraA1 77) F7 98 917 7T (ATETAT 1T g 1% (UG Agea / T0¥ A g2 97 {3 Frdwa 2
data fargw w14 & 7 71 T 79 F =g @A g’ 1 deqr g7 afers 787 97 qTeTHIT AT ITASYAT F AT I
AR TAAT FT ISTIIT FHAT ATTAT T@F TT & ATaT Fafsq aferarn e F1 sATTIT FT T AT FIF 1 MILTHAT L&A
afgar sfdrrasatar & fg g aghra srfsaray & 1o s g

The author in the text is advocating for a more organized effort to understand

T UTs § q@s fAufafas 7 @ frast aaa & o stz afys awfesa vara 3 qagw g :

[Question ID = 2391][Question Description = S2_qSNz_PG_ADE_Q96]
1. The advantages of a mass campaign/sT= ST & T

[Option ID = 9561]
2. The limitations that an individual faces because of illiteracy/f¥ereaT % Feor =f<s 9T AT Frearer sFieeT

[Option ID = 9562]
3. The efforts needed to meet the unwillingness with benefits/=® YaTHT & WIeaw I sTfA=aT F E4 AT ATT FT T A T STALTFAT &

[Option ID = 9563]
4. The core of political and bureaucratic motivation/ZTsi<i{ae 3fiT FTFzeTEr ST

[Option ID = 9564]
Correct Answer :-
e The advantages of a mass campaign /ST 3Tf¥=IT & @17

[Option ID = 9561]



2) Read the passage carefully and answer the questions that follow

The need to launch a "major social motivation and mobilization campaign that would propagate the benefits of literacy
and handicaps of being non-literate" indicates that the new Mission tool the issue of lack of interest among the learners
rather seriously. There is a fear that the approach could repeat the response in terms of "enjoy the fun while it lasts" from
the Kala Jathas with very few learners coming for the actual literacy programme.

What is very crucial to adult illiterates is to identify what hurts each individual with no literacy; the common denominator
derived from that kind of an effort must form the core of that social motivation, not a general campaign on the benefits of
literacy. The adult illiterates suffer from a peculiar, at times individual, disadvantage on account of illiteracy in their social
and geographic contexts and they would want to overcome that disadvantage to carve out a new identity for themselves
through the learning of literacy skills. The promise of engaging the adult learners, both unwilling and willing, in a dialogue
on the benefits of literacy is something new; it will be interesting to see how the whole thing will be operationalized. The
Mela-like euphoria makes it somewhat difficult to undertake such a dialogue with the adult learners.

It brings back the Adult Education Centre (Lok Shiksha Kendra) in a big way since the earlier experience clearly indicated
that not many volunteers were willing to shoulder the instructional responsibility under the programme. Volunteers would
be used wherever it is necessary and are available. The revival of an organized learning location within each village was
necessitated largely on account of the multiple activities that were planned for the female learners.

frafafeg meaia #1 eamqof ofzg st sa3 srgrT o g g a5 & ST ffvrw :

"TH ATTF TATIR AT fT g af a1 orad waea®sT qreear § a7q grara sgfaarst aa1 T 9 #7 araret &7
THTT THTT GIAT" FT ATLARAT @ T 72T FT fAwqew grar g 3 a1 firaa & sfywra wafat @ afvef~ 3 sawra & 48 71 acxfays
Teficargd® forar w7 g R sa STTa @ "g9d quTIT aF T T A d " P dadf 7 wrer sra7 @ stgiea o gaeg iy g awdt
g Fra® areafas ara<ar #1959 g s aferasaf agasw ga &

iz AT =fwat & e ga 919 71 ffeaq 3971 9g7 7gsaqyl & 5 s fras st w1 g s @ AT dt g, 9 1<
& TITH & LeTF GUATA ATHGTT ATATIIT SAATUT FT [F QT ZIAT AT A7 5% Ar07@T & SIAama ATH 3 G4 § GUIATH
afrara wtg AT TFFT F7 A qr @ R G AT st Arnfos dad 9 fafysy, g s a=fwra a acag iy
FTHTAAT FIAT IEAT € AT ATAIAT 1A ATATH F AT / F ATHT Af¥7aAr a7 F {90 39 wiogaar & fHsrq a7 [
afa=g#® s Tog# QA1 e ATATHFIATA F 7T ATHALAT & FAATS ATH B GIX A T LT SATGTIVT § ; T <@AT fadq=eq
1T T 37 a1 AT F 9UET / 5w ywR wraffeag fearrar g /91 - aga gE@ary & 107 Wiw afyrasatsn & a1 39
TG HTHATE HIAT ATST TR G ATAT &

THD HACTET TIEFAAT FF (ATF fraA1 77) F7 98 917 7T (ATETAT 1T g 1% (UG Agoa / 0 A a2 9t {3 wrdwa &
davia fargw w1 & 7T 77 FIgT 79 3 Tog® @a g’ A1 deqr g7 Afers 7g€’ 97 MTeTHIT AT ITASYAT B AT I
FE AT FTITANT FHIT ATTAT T@AF AT F AT AT ATHTH Trq A7 ATeqT FY T SMLH FIH FT MILIAFAT L&A :
afgar srfgrasatar & fg g aghra stdsara & w1 s g2

As per the text, the campaign of social motivation and mobilization was based on the understanding that illiteracy was an
account of

UTS & AT ATATIE SAFHATor v T R fwaTa g7 a77 < avariea a7 v fazazar srwmeow ar:

[Question ID = 2392][Question Description = S2_qSNz_PG_ADE_Q97]
1. Opportunity/3r=aY

[Option ID = 9565]
2. Motivation/=fe=or

[Option ID = 9566]
3. Reluctance/#fa ==

[Option ID = 9567]
4. All of these /3T =it

[Option ID = 9568]
Correct Answer :-
e Opportunity/zr=adx

[Option ID = 9565]

3) Read the passage carefully and answer the questions that follow



The need to launch a "major social motivation and mobilization campaign that would propagate the benefits of literacy
and handicaps of being non-literate" indicates that the new Mission tool the issue of lack of interest among the learners
rather seriously. There is a fear that the approach could repeat the response in terms of "enjoy the fun while it lasts" from
the Kala Jathas with very few learners coming for the actual literacy programme.

What is very crucial to adult illiterates is to identify what hurts each individual with no literacy; the common denominator
derived from that kind of an effort must form the core of that social motivation, not a general campaign on the benefits of
literacy. The adult illiterates suffer from a peculiar, at times individual, disadvantage on account of illiteracy in their social
and geographic contexts and they would want to overcome that disadvantage to carve out a new identity for themselves
through the learning of literacy skills. The promise of engaging the adult learners, both unwilling and willing, in a dialogue
on the benefits of literacy is something new; it will be interesting to see how the whole thing will be operationalized. The
Mela-like euphoria makes it somewhat difficult to undertake such a dialogue with the adult learners.

It brings back the Adult Education Centre (Lok Shiksha Kendra) in a big way since the earlier experience clearly indicated
that not many volunteers were willing to shoulder the instructional responsibility under the programme. Volunteers would
be used wherever it is necessary and are available. The revival of an organized learning location within each village was
necessitated largely on account of the multiple activities that were planned for the female learners.

fafafeg meia #1 gyl of3g st sas srgrT 9 R ag wot # sac fifvg :

"TH ATTF TATIR AR T T A A9 Drad GAea®sT GreLar & 917 grara sgiaarst aa1 faegT @19 #7 arare w7
THATT THT AT FT MALAFAT & T TT FT T4E 07 Zrav § 7% 97 forers 7§ afgwry wafar § afvet™ 3 awrg & q8 =71 acwfys
THETEES forar a7 8 fFsa ST @ 598 quTIT aF (HATFTAAT S " B dad | F1a7 97 @ erqgfepar a1 gy iy g7 9=t
g Rrad areafas ara<ar #1959 3 g s afdmrasat agasa ga g

iz ATy =fwat & e sa 919 71 T 3971 957 759y & % w@as fAras =t 51 g fiw @ AT dr g, 39 9%
FIATH § LT FTATT JTHATT ATATINF AFATOM F7 LT & A1 AT A7 7% AreALar & A a1 $ dIq 7 Iavey
Firam ote g aiEat #1 Aaar 3 F10 qud arariors s Sitas 93 9 4w, 337 w31 = atwag e g agfagr
HT ATHAT HIAT TSAT & ST ATALTT FIAA ATHTH F ATEAT @ F rq+AT wfewar sara & forg 38 wivgerar @ fasra arar s
Afsg® AT Tog® AT NE ATATHHATA F TTT ATHLGT /@ FAATS ATH B I R GATE TIT AT § ; T @71 fyer=eq
1T £ g7 ardt St & awuEw @ Prw vwre Fratfeag FFarrard /AT - aga @AY F FIL0 NE AfgwAwatS & 9rA 3@
TG HTHATT HIAT ATST TOHFT T ATAT 8

TAD FACTET TTEFAAT T (ATF FAAT 77) F7 I8 977 7T LITETAT 1T § A% (S Aqowa /@ 08 T I 97 3% wrdwa 2
daia fargw w14 & 7T F1 T 79 3 Tog T @A faAy A1 a=q7 g AT AgT 97 AATFAT AT ITASYAT B AT I
TFEETAAT FTITIT AT ATTAT T@F TT 3 i Fafsq afgarn eqs F1 sqaeq 1 FT T AT FIF 1 MILTFAT L&A
wfgar saftmrasatar & g Aty agfhg srdwaral & 10 Souw g

Para three states that the multipronged strategy of "Lok Shiksha Kendra" offered an answer to

AR §T7 # Seaw g ¥ avw frgr g A1 aguefiz wraa @ sasIw frar:

[Question ID = 2393][Question Description = S2_qSNz_PG_ADE_Q98]
1. Failure of earlier programmes/qaadT s # farheran

[Option ID = 9569]
2. Strengthen the earlier programme/ e FTHHH T TgE AT

[Option ID = 9570]
3. Volunteers' demotivation/Ta=& 3T FT gaTcaTiad AT

[Option ID = 9571]
4. Tardiness felt in the existing program/fa=mT FTFa # srereg & s

[Option ID = 9572]

Correct Answer :-

e Failure of earlier programmes/Tdad! FTAHH FT farerar

[Option ID = 9569]

4) Read the passage carefully and answer the questions that follow

The need to launch a "major social motivation and mobilization campaign that would propagate the benefits of literacy
and handicaps of being non-literate" indicates that the new Mission tool the issue of lack of interest among the learners
rather seriously. There is a fear that the approach could repeat the response in terms of "enjoy the fun while it lasts" from



the Kala Jathas with very few learners coming for the actual literacy programme.

What is very crucial to adult illiterates is to identify what hurts each individual with no literacy; the common denominator
derived from that kind of an effort must form the core of that social motivation, not a general campaign on the benefits of
literacy. The adult illiterates suffer from a peculiar, at times individual, disadvantage on account of illiteracy in their social
and geographic contexts and they would want to overcome that disadvantage to carve out a new identity for themselves
through the learning of literacy skills. The promise of engaging the adult learners, both unwilling and willing, in a dialogue
on the benefits of literacy is something new; it will be interesting to see how the whole thing will be operationalized. The
Mela-like euphoria makes it somewhat difficult to undertake such a dialogue with the adult learners.

It brings back the Adult Education Centre (Lok Shiksha Kendra) in a big way since the earlier experience clearly indicated
that not many volunteers were willing to shoulder the instructional responsibility under the programme. Volunteers would
be used wherever it is necessary and are available. The revival of an organized learning location within each village was
necessitated largely on account of the multiple activities that were planned for the female learners.

frefafaa weia #7 samg o qfew i S9% g 9 Ry 1w vl & ST Aoy .

"TF ATTF UATHF AFATor s gy af3rar Srad FAeas T qre<ar @ I1q graara TEirarsy aa71 {47 grx #71 Ira7si w7
TATT TATT ZIAT" FT ATLAFAT G 39 T T FAET07 grav g 7% ¢ foraq § afwa sata § afv=t 3 soarma & q2 71 aafas
Tsficargd® forar wa g R za ST @ "5@d AT & fRaTFT AT A U F dasf § FraAT A7 | ryhear F¥ gAwrg v g awddt
g rad areafas aracar sf#ww 3 forg smaam sfgmrasaf agasa ga €

Wi farar afwat @ g 3@ a1 w1 ffeaa s3ar aga agxaqy @ % v ® farav=fw w1 fra S @ fi=1 T 8, 9 a1
R TATY & T GTATT ATHTT ATATIIG STATOT HT T 9T GIAT AT A7 3% A1 ear @ e a1 3 G54 § GUarea
afdrara wtz g TfFHFT F7 g ar @ S0 o ATty st avnfas dad 9 fafyy, g3 537 e at g agfyar
FTATHAT FIAT TEAT & ST ATAITT FIAA ATATH B ATEAT F F AAT Af¥AAT IO77 3 Forw 390 wiwgaar & fAAqrq qarar [T
FA=GF AT T=FH AT NIE ATATHHATSA D T GTHAIAT E FAATH ATH P I | AT AT HATIOT § ; T IGAT fyar=eq
T T3 7 a7 091 & GAUET § %9 TH F1A1fvaq FFATATATE AAT - AT LEATH & HTLY 18 ATSTAFHATIA & T I
TG HTH AT FIAT ATST TSHT ZT ATAT §

TR HACTET NEfAAT 7 (ATF fraar F7) F7 98 017 7T gAwgTaw rav1 g 4% g agaa /@ Toy AT gz qar {5 srdwa 2
daia fraw #7143 A< F1 fAd g7 79 3 =g+ agafaat 9t dear aga afas g 97 T eqFI7 AT ITASHAT F AYTT T
A TAAT FTITIIT FHITATTAT 7@F TT & AraT dafsq afdrara eas7 F1 AFeqT FT T LT FIF F1 SAILTFAT L&A
wfgar safdmrasatar & fog g aghra srfsarat & s1eu0 3w g2

Which of the following is true from the text?

13 & gqa fAuffaa d d staarsaradi g :

[Question ID = 2394][Question Description = S2_qSNz_PG_ADE_Q99]
1. Campaign provided an opportunity of dialogue achieved/sfHITT & FAeasT HATT FT ATEL ITH g

[Option ID = 9573]
2. Campaign failed to provide an opportunity of dialogue/If¥=T TaTE T FaHT IUA= F4 & et 2T

[Option ID = 9574]
3. Campaign brought out the difficulties faced by illiterates/sTfsrama & wewasT Avaw =afedl & T AaTe! FATSAT IR g

[Option ID = 9575]
4. Campaign had no idea of entering into a dialogue/# =T ¥ waTg T{Ud ¥ &7 FE &= TL1 a7

[Option ID = 9576]

Correct Answer :-
e Campaign provided an opportunity of dialogue achieved/sf3=Ta & Ferea®1 HaTa FT AFHT T g
[Option ID = 9573]

5) Read the passage carefully and answer the questions that follow

The need to launch a "major social motivation and mobilization campaign that would propagate the benefits of literacy
and handicaps of being non-literate" indicates that the new Mission tool the issue of lack of interest among the learners
rather seriously. There is a fear that the approach could repeat the response in terms of "enjoy the fun while it lasts" from
the Kala Jathas with very few learners coming for the actual literacy programme.

What is very crucial to adult illiterates is to identify what hurts each individual with no literacy; the common denominator
derived from that kind of an effort must form the core of that social motivation, not a general campaign on the benefits of



literacy. The adult illiterates suffer from a peculiar, at times individual, disadvantage on account of illiteracy in their social
and geographic contexts and they would want to overcome that disadvantage to carve out a new identity for themselves
through the learning of literacy skills. The promise of engaging the adult learners, both unwilling and willing, in a dialogue
on the benefits of literacy is something new; it will be interesting to see how the whole thing will be operationalized. The
Mela-like euphoria makes it somewhat difficult to undertake such a dialogue with the adult learners.

It brings back the Adult Education Centre (Lok Shiksha Kendra) in a big way since the earlier experience clearly indicated
that not many volunteers were willing to shoulder the instructional responsibility under the programme. Volunteers would
be used wherever it is necessary and are available. The revival of an organized learning location within each village was
necessitated largely on account of the multiple activities that were planned for the female learners.

frafafReg meia F7 eamgo ofFg et sa8 srgrT 9 R ag wst & s ffvrg :

"TH ATTF TATIH AT < g A7 rad GACa®T ATHLAT § I77 grars vgiaarsi aa7 {9 7 arare 57
THT THT AT F7T MALAFAT & T T FT AT 1A § 7% 97 forarw & wfaywra wata § afvet> 3 awra # q8 571 qcwfys
THTES frar a7 8 FIa 3T & "39% GuTIT 95 (HATFHTAAT A " F dasf | F1a7 197 / erqieear 1 g iy g7 a4t
g rad areafas araar sf#ww 3 forg smAam sfgrasaf agasa g €

Tz gy =afwat & e @ 979 #1 TEaq FIT71 957 787y & 5 ra@#F fraeatw a1 fog A 4 AT 8, S I9 K
F TITH & SLTT GTATT AT GTT ATATIRIG SR HT L 90 grA1 AT A7 3% Aregear @ graars a19 3 G5y & Grarea
afyram wtz g =gt w1 ffcaar 3 s1e0 g g s sinfs ged 7§ &, g3 s afwrg aicacagfrar
HT ATHAT FIAT TEAT & ST ATATTT FIAA ATATH & ATETW F F AqAT Afewqr g9 # forg 390 wiwgaar & 09 arar s
af=g® AT TogF AT NE ATATAFIATA 7T ATALATF GAATS ATH & I | AT LT SHTGTIVT § ; T @7 faa=eq
I 03 57 17 =il & 997FT & 5 vHwe #1affeaq fFar a8 AAT - GEA LA B FTO AE ATATARATA B 7T 5T
TG FTHATE FIAT ATST TEHT T ATAT ]

TP FAEAET MEIAAT D7 (AT (AT 7)) FT I8 AT I TRETAT SIAT & A1 (UGS ALAT & €T FIC T 707 T3 w1y &
dauia fraw #7143 1A F1 g7 79 3 =g @gafaat #1 deqr 9g7 afys g7 97 qaeqFvI70 AT ITASHAT F AYTT I
A AT FTITI AT ATGAT TFF T & AIAT G ATST ATGTA T4 F1 FTEAT HT T LA FIA BT AALIFHAT L&A
wfgar sfdrraswatat & fag afsa agfag sfwaral 3 w10 scuw g2

As per the author, adult illiterates suffer from a peculiar disadvantage in their

I@F d AT Mg fazae safwat &1 fafya srgfaarat (wfagaarst) sTammarsE@ETI=arg .

[Question ID = 2395][Question Description = S2_qSNz_PG_ADE_Q100]
1. Social and political life/ra= FTATRE T T TTaH = &

[Option ID = 9577]
2. Social and geographic context/®TaTIS 3T AT Hae §

[Option ID = 9578]
3. Individual and familial context/=IT<FTa T ATETRE F¥ 1T

[Option ID = 9579]
4. None of these/3IT< & & &< A2T

[Option ID = 9580]

Correct Answer :-

e Social and political life/=rq= ATaTRoF 3T T ITa Sra &
[Option ID = 9577]

Topic:- GP_20NOV_A_SH1

1) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.

College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys

A 12% 1000



College | |[Percentage (%) of students |Number of Boys |
B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

FifasT & fRg T Aisst & AT g al & S ART :

et fFg arfast g: At agtfe=maat (A - F) § a1 #1977 T faetf&at #7 wfaaadr - foaw w1 o swega a3di @
g+t wgrfaamaat ® faars g frarfda 5 dear 12000 8

agTiaaTa - a1 faatfSat & 1 faaor

meTiaamew | farafday 1 sfyaTar (%)as+i 1 d=ar
A 12% 1000

B 9% 800

(o 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

What is the total sum of the number of girls in College-C, boys in College-D and girls in college-E together?

wgrfaaTag - C § wstHal #, wgrfyeres - D & A=t #1 i< AgTiAen«d - E ® wsfrat &7 d&a1 #7177 TT6T 7478 ?

[Question ID = 3576][Question Description = S2_qSNz_PG_GP2_Q01]
1. 3400

[Option ID = 14301]
2. 3800

[Option ID = 14302]
3. 3200

[Option ID = 14303]
4. 3600

[Option ID = 14304]
Correct Answer :-
e 3400

[Option ID = 14301]

2) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.

College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200




arfarsT & fRT T A FET B g I w5 B ST AR :

it arfesT g: At agrfmaay (A - F) & 51 #7 9=3r T frenfd=t 7 vfyaaar - fRregw w1 fRawr wega sl @
T+t wgTiy=Taat ® fhars g fAartday &1 d5ar 12000 §

agTireTa - 1T fa=rfdat w1 famwr

mgTiaaman | faarfday 1 wfyaaar (%)as®1 1 d=ar
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

What is the respective ratio of the number of boys in College-C, the number of girls in College-B and the total number of
students in College-E?

AT - CF ASHI #1 &7, AgTa=arad - B # asFray 1 eqv sz wgrfaamey - E & g Fratfiat 1 d&a1 51690
ALATT FATR ?

[Question ID = 3577][Question Description = S2_qSNz_PG_GP2_Q02]
1. 45:7:97

[Option ID = 14305]
2. 43:9:97

[Option ID = 14306]
3. 45:7:87

[Option ID = 14307]
4. 43:9:87

[Option ID = 14308]
Correct Answer :-
o 45:7:97

[Option ID = 14305]

3) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.

College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

FifasT & g Tr aisst & AT aT wal & SaT AT :

fraifea arfersr g: fAfhw agrfa=maat (A - F) & ass1 @t d&7r o fFafdat 1t wfaaaar - faw &1 g sega #3@dt 8
g+t wgriaemaat ® faars g frarfdat 5 @11 12000 8

agTiaaTey - a1 fa=rfdat &1 g

meTiaramaw | faafday 1 wfyaTar (%)as+i 1 d=47

A 12% 1000

B 9% 800




meTfaraTar | fararfiat 1 sfyaqar (%)asst #1 e |
C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

What is the difference between the number of boys in College-E and the total number of students in College-F?
agTfaaTas - E® ag®l 91 @ &1 s agriaemey - F & g faefdai €1 gear 3 fiv Fa7 597 ?

[Question ID = 3578][Question Description = S2_qSNz_PG_GP2_Q03]
1. 1640

[Option ID = 14309]
2. 1760

[Option ID = 14310]
3. 1720

[Option ID = 14311]
4. 1680

[Option ID = 14312]
Correct Answer :-
e 1640

[Option ID = 14309]

4) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.

College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

arfarsT & fRT T A FT F g I w5l 3 ST :

i foea arforat & Aty agrfaeaaat (A - F) & =1 31 g7t o< farartfaat 7 wiaaaar - fawaw &1 e sega #3d 8§
ot wgrfaamaat & frarse g frarfSat 5§11 12000 8

wgTiaETeT - a1 iy &1 fEr

weTfaamaw | farafday 1 wfyaTar (%)as+i 1 d=ar
A 12% 1000

B 9% 800

(o 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

In which of the following colleges is the total number of students equal to the number of girls in College-E?
i feg wgrfaarag 9 frerfSat 1 g« g1, agriaaras - E 41 asfeat ST dear s auaeg ?
[Question ID = 3579][Question Description = S2_qSNz_PG_GP2_Q04]



1. A

[Option ID = 14313]
2. B

[Option ID = 14314]
3. C

[Option ID = 14315]
4. D

[Option ID = 14316]
Correct Answer :-
e A

[Option ID = 14313]

5) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.

College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

(o 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

ITfIFT A AT IT AFST  rgrT a7 & I AT«

it arfersT @: [t agrfemaat (A - F) & 51 #7957t T fenfat 7 wfyaaar - frgw w1 g wega w3t @
T+t wgTiyeTaat § faars g faarfday &1 d-ar 12000 §

agTi=Te - 1T fa=rfSayt w1 g

wgTiaaTas | faarfSay «F wfaaaar (%)as®i @1 @47
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

The number of girls in College-A is approximately what percentage of the total number of students in College-B?
wagTfaaTad - A ¥ aEfFrat #1 g=ar, agrfaaray - B 7 fAatfdat 1 g« d&ar $1 9797 fFaar yfoaa g ?

[Question ID = 3580][Question Description = S2_qSNz_PG_GP2_Q05]
1. 50

[Option ID = 14317]
2. 35

[Option ID = 14318]
3. 45

[Option ID = 14319]
4. 40

[Option ID = 14320]
Correct Answer :-
e 50

[Option ID = 14317]



Topic:- GP_20NOV_B_SH1

1) Which parenting style is the one in which parents seem cool and controlling their interactions with their children (low
warmth, high control):

fafafeg 9 @ ag 19 a1 g% @) <t g Brad arar - far s a7t 3 ary stoy dq:Frat 7 919 - =7 i g =s wdtq
g1a g ¢ (frw wrefsrsft, 3g M=o :

[Question ID = 3581][Question Description = S2_qSNz_PG_GP2_Q06]

1. Authoritative parents/vTferrTee @TaT - 99T [Option ID = 14321]

2. Authoritarian parents/sferRTiea 7TaT - fIaT [Option ID = 14322]

3. Permissive parents/s¥=ITa ATAT - 4T [Option ID = 14323]

4. Rejecting/Neglecting/Uninvolved parents/3F=1sT T aTer / SUEAT <A AT / SAT{ad 7 g aTef /14T - foar [Option ID = 14324]

Correct Answer :-
e Authoritative parents/STfarTivah |TaT - foaT [Option ID = 14321]

2) Which of the following assessment methods provides feedback, that is non-evaluative, occurs before or during
instruction, and guides teachers in planning and improving instruction?

fretataa fra geats vg5fa § fieds va1a fFaTATaT 8, 97 AT - TEATHT 9F §rdT &, ALIAT d 99 7 595 1477 wfeq
BT § ST AqRAT ST T FITAT AT AT TR AT ATA | HEATTHT HT AT FHLAT

[Question ID = 3582][Question Description = S2_qSNz_PG_GP2_Q07]

1. Summative/ZTeA [Option ID = 14325]

2. Criterion-referenced/#=fda F|T<T [Option ID = 14326]
3. Formative/fRHTomea= [Option ID = 14327]

4. Norm referenced/#=fsa 9T [Option ID = 14328]

Correct Answer :-
e Summative/aRTTeH® [Option ID = 14325]

3) Given below are two statements
Statement I: Parents and teachers have a highly significant impact on the maturation aspect of cognitive development

Statement IlI: Schemes are an organised system of actions or thought that allow us to mentally represent or “"think about" the
objects and events in our world

In light of the above statements, choose the correct answer from the options given below

f= ST Fgafag T :
FIT - | : AATATHF FAHTH B TROFT T8 TTATAT - AT o< Freqwt 1 957 & Aol WATT TEAT R

FA9 - Il : ArATd Frarat a1 =l At dafesa sraeard grdt € o g7 gAY g AT 1 aeqat shx wearat &1 arafays zw @
sirfafa<g 37 a7 araa" Ay agafa Iqr

SYUF FIT B AaATH q, 9 feg 17 fFHeai & § 987 ITTF7 977 71709 ¢
[Question ID = 3583][Question Description = S2_qSNz_PG_GP2_Q08]

1. Both Statement | and Statement Il are true/®=« | 3% || Tt 7 & [Option ID = 14329]

2. Both Statement | and Statement Il are false/®9 | 3% || ==t st&<a & [Option ID = 14330]

3. Statement | is true but Statement Il is false/®=7 | <7 g , o= F4 || 3T § [Option ID = 14331]
4. Statement | is false but Statement Il is true/®=+ | 38T g, faeq F+ |l 7 & [Option ID = 14332]

Correct Answer :-
e Both Statement | and Statement Il are true/®= | 3iiT || S 7@ § [Option ID = 14329]

4) Identify the types of cognitive load that make demands during learning
A. Intrinsic

B. Gestalt

C. Extraneous

D. Extinction

E. Germane

Choose the correct answer from the options given below:

SH GATATEHS WTT P THTI 6T TEATT H2 AT AT F FHT ATTTEA G ¢



A. srafw

B. wreeise

C.arg

D. fa=re

E. €7

A9 frg g fasweal & & 9g) ST ST 937 Fifvrg :

[Question ID = 3584][Question Description = S2_qSNz_PG_GP2_Q09]

. A, Band C only/#ae A, B #i¥ C [Option ID = 14333]
. B, Cand D only/#=<t B, C 3fiT D [Option ID = 14334]
. A, Cand E only/#a= A, C 3T E [Option ID = 14335]
. C, D and E only/#== C, D 3T E [Option ID = 14336]

A W N -

Correct Answer :-
e A, Band Conly/#a A, B T C [Option ID = 14333]

5) Match List | with List I

List | List Il
Erik's stages of Psychosocial Approximate
Development Age
. L I. Young
A. Basic trust versus Basic mistrust
adulthood
Il. Late
B. Initiative versus Guilt
adulthood
C. Intimacy versus Isolation lll. 3 to 6 years

IV. Birth to 12-

D. Ego integrit Despai
go integrity versus Despair 18 months

Choose the correct answer from the options given below:

g -1 Fr gt -1 F gaRfa e

gt -l gt -l

(ufew & waraTATRIS faswra @ 9Tm) (@faFz &g )

A. Trisrs frsgra saTa wrfsrs srfasara | & FaEHTT

B. U8 I9TH TIT Il. TS FT TTTHRAT

C. FAIAAT TATH THTHIHTT .39 67

D. rgH aeAfaeT I9TH AATAT IV. T=9 & 12 - 18 Hg

19 frg g fasweat & @ ggrsav AT

[Question ID = 3585][Question Description = S2_qSNz_PG_GP2_Q10]
1. A-lV,B-Ul, C-,D-lU

[Option ID = 14337]
2. AU, B-l, C-ll,D-lv

[Option ID = 14338]
3. A-L,B-ll, C-lv, D-llt

[Option ID = 14339]
4. A-l, B-lv, C-lUl, D-l

[Option ID = 14340]
Correct Answer :-
e A-LV,B-l, C-l,D-UL

[Option ID = 14337]
6) When we design the experiment in such a way that the variations caused by extraneous factors can all be combined
under the general concept of "chance”, it represents which principle?

57 g7 et vhe (Traa de) £ 1t g3 76 F3a € O arg) F1wT 510 Souw fafywarst @fogee) 1 @907 (=7 ta) 1
TATT ATYTIOT ® Fqaad aarfora frarsrawar e, arag fra fRrgiasr s $3are ?



[Question ID = 3586][Question Description = S2_qSNz_PG_GP2_Q11]

Principle of randomization/=gf=z=ha<or &1 frgia (Fiffver st I=aT=am) [Option ID = 14341]

Principle of replication/TaTafx &7 fragia (fifEmer s Yeefiaher) [Option ID = 14342]

Principle of local control/®arei faz=ror 7 forgia (Fiffaer s sfrsrer F21er) [Option ID = 14343]

Principle of operational control/ e fA=r=rr &7 frgia (FfEmer sw sitoverT #2rer) [Option ID = 14344]

A wWw N =

Correct Answer :-

e Principle of randomization/aTgf=giar &1 frgia (FfEmer sfw rewTz=rer) [Option ID = 14341]

7) Positivism as an epistemological program is characteristic of
FTTFHIATAT FTAHT & TT F TIFITE (st fFqwarg ?

[Question ID = 3587][Question Description = S2_qSNz_PG_GP2_Q12]
Social sciences /AT =TT [Option ID = 14345]

Performing Arts/J29i= %=1 [Option ID = 14346]

Natural sciences/sTafe =T [Option ID = 14347]

Legal studies/f3fer et [Option ID = 14348]

A WN -

Correct Answer :-
e Social sciences/@maTioTR A= [Option ID = 14345]

8) Identify the CORRECT sequence of empirical steps in the linear model of the research process

sy wiwnar 3 s gfqara & srgarfrs soon # agt saqaa #1 aga fivg

[Question ID = 3588][Question Description = S2_qSNz_PG_GP2_Q13]

1. Sampling — theory — interpretation — collection — validation — hypotheses /= — firgia — =7 — TUET — TAMFFLT — ITEHAT [Option
ID = 14349]

2. Theory — hypotheses — sampling — collection — interpretation — validation/frgia — g=IAT — Tfa=a9 — T — =7 — ymmi=Fr [Option
ID = 14350]

3. Validation — theory — hypotheses — collection — sampling — interpretation/saTofiFzor — frgia — ITgHeaAT — HIZT — Tfa=a4 — A== [Option
ID = 14351]

4. Collection — sampling — hypotheses — theory — interpretation — operationalization/®Igm — Tfa=a9 — YTgeT T — fgia — Fd=sT —
AT (ATTeeATESrer) [Option ID = 14352]

Correct Answer :-

e Sampling — theory — interpretation — collection — validation — hypotheses/sfi=a7 — fgia — A= — TUET — FTWHFTT — YTFeTET [Option
ID = 14349]

9) Which of the below mentioned approaches fall under the Quantitative Approach?
A. Simulation approach

B. Projective technique

C. Inferential approach

D. Depth interview

E. Experimental approach

Choose the correct answer from the options given below:

frafafaa @ @ $t7 @ sf¥rrw ararens safwrew 3 stadia § ?

A, FTFIO FENTR (ATTLR AT TA)

B. 7@t aF=1% (N f¥ea 261F)

C. swgHATia® sf¥TH (gH = 8raw Ti=)

D. TET HTATEHTT

E. gt stfsrersr

1= feg g faweat & & ot ST HT 9779 FfINT

[Question ID = 3589][Question Description = S2_qSNz_PG_GP2_Q14]

1. A, C and E only/#a« A, C 3T E [Option ID = 14353]
2. B, C and E only/#a B, C ¥ E [Option ID = 14354]
3. B, Cand D only/#== B, C =% D [Option ID = 14355]
4. A, B and C only/#a+ A, B ¥ C [Option ID = 14356]

Correct Answer :-
e A, CandE only/#a< A, C 3 E [Option ID = 14353]

10) Match List | with List Il




List | List Il

A. Ex post facto I. Finding a solution for an immediate problem facing a society or an industrial/business
Research organisation

B. Applied Research Il. Related to some abstract idea(s) or theory

C. Conceptual Research [lll. Development of hypotheses rather than their testing

D. Exploratory Research |IV. No control over variables, reports only what has happened or what is happening

Choose the correct answer from the options given below:

T -1 FT AT -1l | gRFI fifvg

gt -l T -l

A. FTITAC || FRET TuTS 797 =i / sAraariys gweq & g9y
arrer wufRag arewTiors qaear 1 q9THTT AT

:&:ﬂﬂ?ﬁ Il et srqat fa=rTe (FrerT<h) st gt & geafam

C.

G IeTATHS Il T B TITT IT TTHETAT H7 Forawme

aTTEr

D. gF=asT V. I 9X FTS MATw 9, Faw I FT ATTHLT AT/ T
aTTer BT AT AIATZI T &

13 frg oy faswear & @ ggrsav AT
[Question ID = 3590][Question Description = S2_qSNz_PG_GP2_Q15]

. A-lV,B-L, C-ll, D -ll [Option ID = 14357]

. A-ll, B -Il, C -1, D -IV [Option ID = 14358]
. A-IV, B -1, C-Il, D -lll [Option ID = 14359]
. A-l,B-lll, C-Il, D -IV [Option ID = 14360]

A W N -

Correct Answer :-
e A-lV,B-l, C-l, D -l [Option ID = 14357]

11) Peer-to-peer communication is
qOHE & GHHT FTEHTT G ¢

[Question ID = 3591][Question Description = S2_qSNz_PG_GP2_Q16]
1. Horizontal/&fasr

[Option ID = 14361]
2. Convoluted/s=fera

[Option ID = 14362]
3. Non-transactional /¥ - H=ragTfi®

[Option ID = 14363]
4. Authoritarian/srfererTeaTar

[Option ID = 14364]

Correct Answer :-
e Horizontal/&fas

[Option ID = 14361]

12) The main challenges of grapevine communication are:
A. Its formal nature

B. Distortion

C. Misunderstanding

D. Source anonymity

E. Conformity

Choose the correct answer from the options given below:

FAVATE GFIT F 1 {&T TAqAT § ?
A. =HFY stra=Tics vt

B. fa=qur

C. TATHGHT

D. &VT AATHCA

E. S¥g&qaT



1= feg g faweat /@ & ot ST HT 9779 FfoQ
[Question ID = 3592][Question Description = S2_qSNz_PG_GP2_Q17]

A, B and C only/#=< A, B 3T C [Option ID = 14365]
B, C and D only/#a= B, C 3= D [Option ID = 14366]
C, D and E only/#a= C, D sii¥ E [Option ID = 14367]
A, C and D only/#a= A, C % D [Option ID = 14368]

AW N =

Correct Answer :-
e A, Band Conly/#a< A, B 3fiT C [Option ID = 14365]

13) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Students do not form part of the media audience
Reason R: Due to the all-pervasive digital technology, students have become interactive media users

In light of the above statements, choose the correct answer from the options given below

A Y waT AT TUE : TF ATHFIT (Assertion A) F FT | T THIT IqS HTIT (Reason R) F ETH :
afragT (A) : o, dfear - srar & wrradi @

HTIO (R) : 9 - =795 ¥ Rrea Wit & waeasy fraryT srea: frarefter fifear warwaf sxaq g
YA FAAT d AaTF |, 7= faq fawedi & & a1 ST FT 997 FI{9Q :

[Question ID = 3593][Question Description = S2_qSNz_PG_GP2_Q18]

1. Both A and R are true and R is the correct explanation of A/ (A) 3T (R) FET @7 & 37¥ (R), (A) #T 7&r =9m=aT & [Option ID = 14369]

2. Both A and R are true but R is NOT the correct explanation of A/(A) 3% (R) 7 @&l & wewq (R), (A) T |ar ==mear gl & [Option ID = 14370]
3. Ais true but R is false/(A) &7 g, @fsh (R) eT & [Option ID = 14371]

4. Ais false but R is true/(A) e g, &+ (R) F@ § [Option ID = 14372]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) 3 (R) 39T &7 § ¥ (R), (A) FT @&t =@m=ar § [Option ID = 14369]

14) Identify the CORRECT sequence of the following communication forms:
A. Mass

B. Public

C. Group

D. Inter-personal

E. Intra-personal

Choose the correct answer from the options given below

i frg aeiaw - Taedt  TET ALHT FT TEATT HIQ ¢

A. ST - YT

B. STAQT

C. 998

D. Hq< - dafxF®

E. &req: - }7fR%%

3 YT g fawedi & § 987 ST FTII9 HI{9Q ¢

[Question ID = 3594][Question Description = S2_qSNz_PG_GP2_Q19]

A, D, E, B, C [Option ID = 14373]
D, E, B, C, A [Option ID = 14374]
E, D, C, B, A [Option ID = 14375]
B, C, A, D, E [Option ID = 14376]

A WN -

)

Correct Answer :-
e A, D, E, B, C[Option ID = 14373]

15) Match List | with List Il

List | List Il

Types of noise in communication/Characteristic feature

A. Physical I. Barriers within the sender or receiver
B. Physiological Il. Wandering thoughts




C. Psychological lll. Use of jargon
D. Semantic IV. Mechanical distortion
Choose the correct answer from the options given below:

g -l FY gt - F gR T A

g -l g -1l

(TEITT F T H TH) (rfirarafre frawar)

A, arfes I. I9%F AT TEUHAT F TET TG
B. o< fraTea= Il. soorefiar f=TY

C. garfasrias Il frfare - ersgrast &1 v

D. erseTe fasTe Iv. arfras fasgo

19 frg oy fasweqt & @ gt sacgfg:
[Question ID = 3595][Question Description = S2_qSNz_PG_GP2_Q20]

A -1V, B -1, C-Il, D -lll [Option ID = 14377]
A-l, B -ll, C-lll, D -1V [Option ID = 14378]
A -lll, B -1V, C -1, D -1l [Option ID = 14379]
A-ll, B -lll, C -1V, D -l [Option ID = 14380]

A w N =

Correct Answer :-
e A-IV,B-I, C-Il, D-lll [Option ID = 14377]

16) The incomes of Ravi and Kavita are in the ratio 2:3 and their expenditures are in the ratio 3:5. If each saves X 100,
then Ravi's income is

T ATF AT AT AT 2 . 3R AIITA S AISTR AT FTAIIA 3 : 58 ATITAFT I 100 FIT FLA € AT AT HTMAE ¢

[Question ID = 3596][Question Description = S2_qSNz_PG_GP2_Q21]
1. X200

[Option ID = 14381]
2. 2600

[Option ID = 14382]
3. %400

[Option ID = 14383]
4. 100

[Option ID = 14384]
Correct Answer :-
e 200

[Option ID = 14381]

17) The new cost of a mobile which has been discounted by 15% is ¥ 3230. What was the cost of the mobile originally?
15 wfaora #1 gz 1T AVITST KT TAT 7 X 3230 § AIAT3A HT II0F o #7972

[Question ID = 3597][Question Description = S2_qSNz_PG_GP2_Q22]
1. 3675

[Option ID = 14385]
2. %3650

[Option ID = 14386]
3. %3600

[Option ID = 14387]
4. %3800

[Option ID = 14388]
Correct Answer :-
® 33675

[Option ID = 14385]

18) The product of two positive consecutive odd integers is 1 less than six times their sum. One of the integers is
FY TATAF FAHIAT FATT qOIF FT AOTRA, ITH AFA S 6 - [UTA 1 FAg A A 9 TF QUIF g ¢

[Question ID = 3598][Question Description = S2_qSNz_PG_GP2_Q23]
1. 7

[Option ID = 14389]
2.9

[Option ID = 14390]
3. 15



[Option ID = 14391]
4. 13

[Option ID = 14392]
Correct Answer :-
o 7

[Option ID = 14389]

19) Given below are two statements
Statement I: A number that has factors other than 1 and itself is called a composite number
Statement II: 23 is the only odd prime number

In light of the above statements, choose the correct answer from the options given below

fa ST Fgafag T :

FAT - | : TF G&qT, fHTHT 1 AT g AT TaF & AI9dF GIA &, TF AT G&AT AT TLTF T &AT FET ATAT &
FIT - Il : ¥ 23 T CHATT fI97 Fz d=qT 3

SYUH HIAT B aars q, A2 foq 17 fHHedi & § ag7 ITT F7 977 F1709 ¢

[Question ID = 3599][Question Description = S2_qSNz_PG_GP2_Q24]
1. Both Statement | and Statement Il are true/= 9 | 3% || =1 7T &

[Option ID = 14393]
2. Both Statement | and Statement Il are false/®== | 3% || FHT oET &

[Option ID = 14394]
3. Statement | is true but Statement Il is false/®=I= | T &, ST For || 509<T §

[Option ID = 14395]
4. Statement | is false but Statement Il is true/Fa | er\eT 2, AT Fa7 |l 77 §

[Option ID = 14396]
Correct Answer :-
e Both Statement | and Statement Il are true/®+ | 3T || TAT a7

[Option ID = 14393]

20) Match List | with List I

List | List Il

Three numbers Their average
A. 40, 32, 33 |.. 38

B. 35, 36, 40 |Il. 36

C. 33, 36,39 |l 35

D. 30, 38, 46 |IV. 37
Choose the correct answer from the options given below:

T -l FT gt -1 F gER fifv

gt -l T -l

(@7 T&ATY) (SAFT {TT (H%=AT))
A. 40, 32, 33 1. 38

B. 35, 36, 40 I. 36

C. 33, 36, 39 1. 35

D. 30, 38, 46 V. 37

19 frg g faswear & @ ggrsav AT

[Question ID = 3600][Question Description = S2_qSNz_PG_GP2_Q25]
1. A-IV,B-1,C-1l,D-1lI

[Option ID = 14397]
2. A-1,B-1IV,C-1,D- 1l

[Option ID = 14398]
3. A-NLB-1V,C-11,D-I

[Option ID = 14399]
4. A-IV,B-1l,C-1ll,D-1

[Option ID = 14400]

Correct Answer :-
e A-IV,B-1,C-Il,D-1ll



[Option ID = 14397]

21) Advertising "Testimonials” are frequent instances of this fallacy
THT FT fIara7 F3A71 frufafaa & & f5a 9 g7 S 978 IITELE ?

[Question ID = 3601][Question Description = S2_qSNz_PG_GP2_Q26]
1. Argumentum ad ignorantiam (ignorance) /3 F#weH T THR e (STATAT)

[Option ID = 14401]
2. Argumentum ad Misericordiam (appeal to pity)/sdHw=w Uz Ao (31 #7 amrE)
[Option ID = 14402]
3. Argumentum ad Populum/s#Heq T qTIaH

[Option ID = 14403]
4. Argumentum ad Verecundiam (authority)/sT#eq TT JXFH{eeaw (TTTAFT)

[Option ID = 14404]

Correct Answer :-

e Argumentum ad ignorantiam (ignorance)/Aw=H TT TANFaerA (AATAAT)

[Option ID = 14401]

22) If 'some women are writers is true, which of the following codes are CORRECT
A. 'All women are writers' false

B. 'All women are writers' is true

C. 'No women are writers' is false

D. 'Some women are not writers' is undetermined

Choose the correct answer from the options given below:

7fy ' gy AfReTe afgFe § aew g, T AwfaRrad @ srad gzadr g ?
A. g wfgae AfeFe & wwew

B. a+T wfgare afasrd € aca §

C. wrg afgar afasr 7 € sraca g

D. '{& wfgard afasrd adt & afvaifxa

F= feg g fawedi & & 987 ITTHT 77 F1Q ¢

[Question ID = 3602][Question Description = S2_qSNz_PG_GP2_Q27]
1. Aand B only/#a<1 A 3fi B

[Option ID = 14405]
2. Band Conly/#a« B 3w C

[Option ID = 14406]
3. Cand D only/#=< C 3fiw D

[Option ID = 14407]
4. Band D only/#a B 3T D

[Option ID = 14408]

Correct Answer :-
e Aand B only/#a A &7 B

[Option ID = 14405]

23) Which of the following code correctly represents the figure and mood of the argument?
No musicians are Italians

All barbers are Musicians

Therefore, No barbers are Italians

Choose the correct answer from the options given below

MafafRra @ @ FTATLETF 3 AFTTTIT IFT FT GT FAETT FIQT7 872
FIE GATTHT TTHT FT AT &

Tt ATE GMTFITE

AT: FIE ATS TTATHTAG &



[Question ID = 3603][Question Description = S2_qSNz_PG_GP2_Q28]
1. EAE-I/ETE-|

[Option ID = 14409]
2. EAE-I/ETE -1l

[Option ID = 14410]
3. EAE-/ETE -1

[Option ID = 14411]
4. EAE-IV/ETE-IV

[Option ID = 14412]
Correct Answer :-
e EAE-1/ETE-|
[Option ID = 14409]

24) If a jar is temporarily removed from its locus the non-existence of the jar on the floor is
fy fRET AT (V1) BT ATATE TIF A TATT (F15HT) § T AT ITT 7 B4 g A a7 H7 AARA79 @ =

[Question ID = 3604][Question Description = S2_qSNz_PG_GP2_Q29]
1. Upamana (Comparison)/3TATH (TAT) (FFITIST)

[Option ID = 14413]
2. Arthapatti (Implication)/srariafxr (FRfgard) (zrecfraer)

[Option ID = 14414]
3. Anumana (Inference) /s HTT (37HH)

[Option ID = 14415]
4. Anuplabdhi (Non-cognition)/saefser (7 - Ffrer)

[Option ID = 14416]

Correct Answer :-

e Upamana (Comparison)/ITHTT (TAT) (FFITSI)

[Option ID = 14413]

25) The knowing self knows objects through the instrumentality of the Indriyas and the existence of the Indriya, is proved
by

FTAT G AT R T ZTeaT T B TTET FILT SATAT ATAT § AT gfeaay w1 erfa<a worforg frarsrar g

[Question ID = 3605][Question Description = S2_qSNz_PG_GP2_Q30]
1. Arthapatti/ereriafsr grar

[Option ID = 14417]
2. Anuplabdhi/sraafzer grT

[Option ID = 14418]
3. Anumana/STHTT g

[Option ID = 14419]
4. Upamana/39HTH g1

[Option ID = 14420]
Correct Answer :-
e Arthapatti/srafafzr g=n
[Option ID = 14417]

26) Match List | with List Il

List | List Il
(Activity) (File Type)
IA. Recording a song to play on an iPod l. .zip

B. Saving a video Il. .mp3

C. Sending a photo to someone using your mobile|lll. .mp4
D. Compressing a folder of files IV. .jpeg

Choose the correct answer from the options given below:

T -1 FT AT -1 F gRTE v

=T -l =T -1

(FRaT - F9TT) (FTET & THTI)
A. TF g gie T MT a7 # forg fewid sar I. .S awg 9
B. U FtfTay Ifdra AT Il. .TH 9t 3

C. ST HIFTIA HT NI FA §C THET HT BT A5@1 Il .TH 17T 4



D. TF FTE F BT FT FFAT FIAT IV. Tzt |
19 frg oy faswear & @ g Sav T

[Question ID = 3606][Question Description = S2_qSNz_PG_GP2_Q31]
1. A-1,B-UI,C-I,D-1IV

[Option ID = 14421]
2. A-IV,B-1II,C-1I,D-I

[Option ID = 14422]
3. A-1ILB-1,C-1V,D-1I

[Option ID = 14423]
4. A-11,B-11I,C-1IV,D-I

[Option ID = 14424]
Correct Answer :-
e A-I,B-UI,C-I,D-1IV
[Option ID = 14421]

27) Kavita uses a Wifi adapter to connect the computer to an interactive whiteboard.

Which one of these statements is false?

FFAAT TH ATS - BT TS FT TIN FFYIT FT TF A A THRATAA TA132ATS 4 S R wdt g FAaifra w71 7 @ #19
AT ?

[Question ID = 3607][Question Description = S2_qSNz_PG_GP2_Q32]
1. Wifi has a greater range than Bluetooth/=aTze &1 T ¥ 5 22 ¥ SATaT 21aT §

[Option ID = 14425]
2. Wifi signals are capable of passing through solid objects/aTs ®TE & ffrorer 1| wamet & &= 7 oft I° 2 § 99T &

[Option ID = 14426]
3. Bluetooth has a greater range than Wifi/s22 &T ¥ aTS - HTs & SATET 21T 8

[Option ID = 14427]
4. Bluetooth signals are capable of passing through solid objects/= 1 & f&rwrer 21 waraif & = & oft o Fva § 70 &

[Option ID = 14428]

Correct Answer :-

e Wifi has a greater range than Bluetooth/zaTzz 1< &T 37 5 22 & SATAT 21T &
[Option ID = 14425]

28) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The Internet is very beneficial to students in all aspects

Reason R: The Internet opens doorways to a wealth of information, knowledge and educational resources thereby increasing
opportunities for learning in and beyond the classroom

In light of the above statements, choose the correct answer from the options given below

=2 A Fa7 RTTTE : TF ATHFIT (Assertion A) F T § 3T I IH FTIW (Reason R) F TTH :
AfHFAT (A) : FTAe frarfiat & forg o+ g & aga sarer arasrdt §

FTIO (R) : TTTAT FAATH, FT7 KT AfOrF - FATHAT F1 TLLAT FT FX IFTFeT F3aT & Brad 471 # e qrI9qd R afyw s
IET D ATAITATA IS &

SYUF FIAT D aeArs q, = fou foweat & & a@t ST 1977 F1f90 !

[Question ID = 3608][Question Description = S2_qSNz_PG_GP2_Q33]
1. Both A and R are true and R is the correct explanation of A/(A) 3% (R) &t @7 & 3% (R), (A) &7 72T =AT=AT &

[Option ID = 14429]
2. Both A and R are true but R is NOT the correct explanation of A/(A) 3T (R) 21 &7 & 7%=q (R), (A) #T T&T =ATEAT 721 &

[Option ID = 14430]
3. Alis true but R is false/(A) @ g, afshe (R) 30T 8

[Option ID = 14431]
4. Ais false but R is true/(A) ¥¥ea g, 9T (R) T

[Option ID = 14432]
Correct Answer :-
e Both A and R are true and R is the correct explanation of A/ (A) 3% (R) 2= @< & ¥ (R), (A) T LT =a1847 &

[Option ID = 14429]



29) Identify the CORRECT order of the following data transfer rates measured in bits per second (bps) ranked from largest
to smallest

A. 1500 kbps
B. 1500 Mbps
C. 1 Mbps
D. 1 Gbps

Choose the correct answer from the options given below

faza wfy a3 @ oY TH) & 47T TYIET - A=A - ILH 2 @ G TG FH KT IgATH AT
A. 1500 % ST T U

B. 1500 Tw &7 9T Uq

C.1ugsidruw

D. 1SraTdtuw

A= T g fawedi § ] 9g7 ST HT AT HI19TQ ¢

[Question ID = 3609][Question Description = S2_qSNz_PG_GP2_Q34]
1. D,B, A, C

[Option ID = 14433]
2. B,D,C, A

[Option ID = 14434]
3. B,A,D,C

[Option ID = 14435]
4. B,D, A C

[Option ID = 14436]
Correct Answer :-
e D,B,AC

[Option ID = 14433]

30) Given below are two statements
Statement I: You can add attachments of any file size to an email.
Statement Il: You can only send emails from a laptop computer.

In light of the above statements, choose the correct answer from the options given below

= ST Fgafag e :

FIT - | : 7 FRET o FIEA TTIT FT AT R IR H €T A WIS T @
FHAT - || : ST RIA AT - TTT HFGET & T AT A7 4 &

SUUH FIAT 3 et q, A= fay faweat & @ @t ST F1977 F1f9T ¢

[Question ID = 3610][Question Description = S2_qSNz_PG_GP2_Q35]
1. Both Statement | and Statement Il are true/#a | ¥ || ST G &

[Option ID = 14437]
2. Both Statement | and Statement Il are false/®= | 3% || T 36T &

[Option ID = 14438]
3. Statement | is true but Statement Il is false/F= | g7 2, e F7 || 19T

[Option ID = 14439]
4. Statement | is false but Statement Il is true/®== | 38T &, s Fa9 || 77 &

[Option ID = 14440]

Correct Answer :-
e Both Statement | and Statement Il are true/®a | 37 || ST &7 &

[Option ID = 14437]

31) What are essential for the formation of photochemical smog?
A. Oxides of sulphur
B. Oxides of Nitrogen

C. Volatile Organic Compounds



D. Water Vapour
E. Sunlight

Choose the correct answer from the options given below:

THTL - TATATAF A - FIET ® I974 B AT FIT T MTLAF § ?
A. GFFEIT P AFATIT

B. ATEIINIA & AMFTIS

C. arsqsfte w1d fosw a1

D. STTATST

E. g% - wHT1er

A= feg 7y fawedt & & 9 ST HT 977 F1 ¢

[Question ID = 3611][Question Description = S2_qSNz_PG_GP2_Q36]
1. B, Cand E only/#a<1 B, C ST E

[Option ID = 14444]
2. A, Band Conly/#a< A, B #fiT C

[Option ID = 14441]
3. A, B, Cand D only/#=< A, B, C 3T D

[Option ID = 14442]
4. B,C,DandEonly/#a< B, C, D #fiT E

[Option ID = 14443]

Correct Answer :-

e A, BandConly/#a A, B =T C
[Option ID = 14441]

32) What is the CORRECT sequence of occurrence of various atmospheric layers from earth's surface?
A. Thermosphere

B. Stratosphere

C. Mesosphere

D. Troposphere

Choose the correct answer from the options given below

gt #Y gg @ ST FAfrw argaesdtg veat FrsuRaf srafiwwwarE ?
A. ITIHIER

B. HATIHIEH

C. WEqHTEH

D. &IHATSH

A9 frg g fasweqt & @ 9 swTHT 977 A7 :

[Question ID = 3612][Question Description = S2_qSNz_PG_GP2_Q37]
1. D,B, A C

[Option ID = 14445]
2. D,B,C A

[Option ID = 14446]
3.B,D,C, A

[Option ID = 14447]
4. C,B,D, A

[Option ID = 14448]
Correct Answer :-
e D,B,AC

[Option ID = 14445]

33) Which one of the following climate change proxies is not the terrestrial biotic climatic proxy?

afafReg 9 @ 19 saary siedT afyast, arfda g saarg s adi e ?



[Question ID = 3613][Question Description = S2_qSNz_PG_GP2_Q38]
1. Boreholes/f3% - f&m (1% - grew)

[Option ID = 14449]
2. Leaf physiology /7= - Tt

[Option ID = 14450]
3. Tree ring/3% - I

[Option ID = 14451]
4. Pollen and spore analysis/TRraT e Fisrrop fEraor

[Option ID = 14452]

Correct Answer :-

e Boreholes/fag - fagm (1% - gIew)
[Option ID = 14449]

34) A high amount of BOD (Biochemical Oxygen Demand) in a water body represents
A. Highly Polluted Water

B. Presence of a large amount of organic materials

C. Presence of good amount dissolved oxygen

D. Severely limited aquatic life

Choose the correct answer from the options given below:

TF FATqT § &1 @ ST (RqTaraaF - T - 7tM) F71 srfars qvar w2 fdfiq 9@ 2
A. et ggivT s

B. ®T f® qI79T 1 STTIT ATAT F 1 SUfefay

C. frerfyq sitFdtsrT #1 sr=&ft ATAT F1 IURAfY

D. sreafars gy sweta sfraw

= fRo g faFeat 7 4 gt ITNTFT 77 MAT ¢

[Question ID = 3614][Question Description = S2_qSNz_PG_GP2_Q39]
1. A, B, Cand D only/A, B, C 3T D

[Option ID = 14453]
2. B, Cand D only/#a< B, C &iw D

[Option ID = 14454]
3. A, Cand D only/Fa A, C T D

[Option ID = 14455]
4. A, Band D only/#a« A, B3fiw D

[Option ID = 14456]

Correct Answer :-

e A, B, CandDonly/A, B, C3iTD
[Option ID = 14453]

35) Which one of the following is a component of a Sewage Treatment Plant (STP)?
fawfafaa 9 @ w17 s qowe - sy - 947 (g T o) FTUF 92F ¢ ?

[Question ID = 3615][Question Description = S2_qSNz_PG_GP2_Q40]
1. UV source/7. &, &1

[Option ID = 14457]
2. lon exchanger/sa= U=

[Option ID = 14458]
3. Grit chamber/aTAHIT - T

[Option ID = 14459]
4. Cyclone/dTzFal

[Option ID = 14460]
Correct Answer :-
e UV source/T. . &Ta
[Option ID = 14457]

36) According to the NEP- 2020, a Master's Programme may be of:



A. one-year duration
B. two-year duration
C. three-year duration
D. four-year duration
E. five-year duration

Choose the correct answer from the options given below:

TT. 5. 1. - 2020 & AT, ATAHIAL TTSTHA & THATE ¢
A. TF TY FT AFfY &7

B. IV a #T wrafer &7

C. At ad &t srafy w71

D. AT a¥ #T Frafer &7

E. o= o &1 rafy &7

A= frg g faFeal # 4 agt ST HT 79 T ¢

[Question ID = 3616][Question Description = S2_qSNz_PG_GP2_Q41]
1. A, Band E only/#a< A, B 3T E

[Option ID = 14461]
2. A, Band C only/#a< A, B 3T C

[Option ID = 14462]
3. B, Cand E only/#a« B, C sfi7 E

[Option ID = 14463]
4. Band D only/#a= B 3T D

[Option ID = 14464]

Correct Answer :-

e A BandE only/Fa« A, BT E
[Option ID = 14461]

37) According to NEP-2020, the Higher Education Commission of India (HECI) will be set up:

A. to replace the UGC for maintaining quality and standard in higher education institutions

B. as an umbrella institution to look into regulation accreditation, funding and academic standard
C. as a regulatory authority to maintain quality and standard

D. to maintain academic standard of higher education institutions

Choose the correct answer from the options given below:

. T. 9. 2020 # ATATL, 1T &T 37 et swavar earfya frar sroar :

A. 75141, #1797 dafors deare § qorawT ©d T A7 @ @ forg siyearas
B. fafwawa, waaraw, fAfaas s dafirs eqt AT I@WTA G IAF G&ATH € T H
C. us fafqaras 9971 3 €7 & ora<T ¢ AT IATY @A & oy

D. Sy {arfirs Gearalt & tearfors TqT &7 I97¢ @A F oy

A9 frg g fasweq & & 9 SATHT 977 F]A™T:

[Question ID = 3617][Question Description = S2_qSNz_PG_GP2_Q42]
1. Aand B only/#Fa« A 3T B

[Option ID = 14465]
2. B, Cand D only/#a« B, C 3T D

[Option ID = 14466]
3. A, Cand D only/#a= A, C 3T D

[Option ID = 14467]
4. A,B,CandD/A, B, C#iTD

[Option ID = 14468]
Correct Answer :-
e Aand B only/#a< A %7 B
[Option ID = 14465]



38) Match List | with List I

List | List Il

Regulatory institutions as per NEP-2020  [Responsibilities

A. NHERC I. Academic standards
B. NAC Il. Accreditation

C. HEGC Ill. Regulation

D. GEC IV. Financing

Choose the correct answer from the options given below:

T - FT gt -1 F gER fifv

gt -l =T -l

(TA. 3. 1. & srgam fafarcas geard) (&)

A. TT.TH.5.C.HT. I. sterfors - Tax
B. T¥.T.H1. Il. weqTa

C. U9.T.51.6. . fafaaws

D. SfT.3. 97 Iv. frferas

19 frg g faswear & @ ggrsav AT

[Question ID = 3618][Question Description = S2_qSNz_PG_GP2_Q43]
1. A-N,B-1,C-1,D-1IV

[Option ID = 14469]
2. A-1,B-1I,C-1V,D- |

[Option ID = 14470]
3. A-NLB-1L,C-1V,D-I

[Option ID = 14471]
4. A-IV,B-1,C-1I,D-I

[Option ID = 14472]
Correct Answer :-
e A-IIlbB-Il,C-1,D-1IV

[Option ID = 14469]

39) According to NEP-2020, National Research Foundation (NRF) may be established to
ud.3.q%. 2020 # AT, TP AT IAITT (TT. 2. TH.) w7iyq Frar Ir aswar g :

[Question ID = 3619][Question Description = S2_qSNz_PG_GP2_Q44]
1. Promote doctoral/post-doctoral research/s ez ¥ qiee TiFaye 4Td & TIcATET oq

[Option ID = 14473]
2. Promote fundamental scientific research/smemesIa F=TI 9Ter T SeATRd FHIAT

[Option ID = 14474]
3. Enable universities to establish research laboratories/fasafa=mert 1 oTer - TNTITEATAT T TITTAT & T T F

[Option ID = 14475]
4. Enable a culture of research to permeate through universities/fErafa=me=t # sty degia & =18 g9 & o7 3= e swrar

[Option ID = 14476]

Correct Answer :-

e Promote doctoral/post-doctoral research/sTaez 3T T TiFee e & YHTET &4
[Option ID = 14473]

40) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Higher education in India has limited access particularly in socio-economically disadvantaged areas

Reason R: The research and innovation investment in India is only 0.69% of GDP

In light of the above statements, choose the most appropriate answer from the options given below

A T FITRCATCE : TH ATHFAT (Assertion A) F €T & HT AL ISP FHTI (Reason R) F T H :
FfwFIT (A) : AT R 37 - frar 11 w7 og= & AQwsc qrartos - arfGs azmaaiq

FTIT (R) : ATXT & are hT AqTAT fA3 o1 g o SeATT (S..4.) FTHI900.69% 7

SYUF FIAT D AaATH q, = f¥ forweat & & gt ST FTH4I7T F1f0T ¢

[Question ID = 3620][Question Description = S2_qSNz_PG_GP2_Q45]
1. Both A and R are correct and R is the correct explanation of A/(A) 3% (R) ZI9T T&T & 3% (R), (A) FT T&r =897 8

[Option ID = 14477]



2. Both A and R are correct but R is NOT the correct explanation of A/(A) ¥ (R) T #al & T3+ (R), (A) FT T2 =ATEAT T &

[Option ID = 14478]

3. Alis correct but R is not correct/(A) W&l § 9] (R) Tl 7al &
[Option ID = 14479]

4. Ais not correct but R is correct/(A) W&t T2 g T+q (R) & &

[Option ID = 14480]

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) =i (R) Tt @&l & 3T (R), (A) F¥ #&l =A=AT
[Option ID = 14477]

Topic:- GP_20NOV_C_SH1

1)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective 'we' of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle
class women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain
by black and Asian feminists. Such critiques evoked the concepts of 'inter-locking identities' and inter-locking oppressions'.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were
called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most
women around the world and attempted to reposition feminist debate within broader social, economic and cultural
contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the
self-assumed authority of western feminists to speak about or indeed for others was disputed and decentered. Influential
accounts of the tendencies of masculinist imperialist ideological formation to construct a 'monolithic Third world' woman’,
discursively constituted as the universal victim of Third world patriarchy, challenged feminists to "unlearn” their privilege
and to deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside
intervention of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars
anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary,
they were enduringly influential in highlighting the questions identity and authority in feminist studies.

Fr= YT T Tt FY AL 98 AT TWT F ALK ¢

TR Ardtardt gia & a9, Ay, g9, I AT g #1 gfT @ Afgarsw & = gl thwarei #7 a9<ETT w9 g afgAra
P IAT T ATATAATA I TA [IATAAT AT T AT AUTS 6 THIA €T ZT TS T ATHATE & TLIRH H 4T T ™2 /97 747
arfardt frgiat 1 sraataarsn, Sregia aq, segaaifta gigarst w1 Rafy w7 ad afgars & Rafy @ frar fagrar, =1
IO AR fwT § seda T Ard =T Aarharfeay 4 ST fFaT agr A & wAq T uferars ardarfeat & sz frar oa
AMATTRT 7 FEATHT argfEfedis srv il atuera &1 FramaTrst 1 afaures frar soa a5fyT i afys afyard
g St gfar & I fagrat g fFar A sgt fega & e et Sy wiv g g9 swAr=wwt F giAar € aftrwia
AfEaTst & Staq & g5 § qrared Aarqarfyat F G wurens giat F1 A9rh rwar w7 SATCL /AT qAT AT A7 AGrAT FOXC
aufd Rguew # =ros arathrs, afds s aiegios a9t # AR & Frha1d 989 F1 g e qriva $39 F 779979 a1 07
AraraHl 7 I - dAafAafars Rafa & srars #1 ga< fHar, [Hrad ofydf ardarfeat & @@  anr § 9 @ @9y
FfaFT FT A0y T Fa=iFwer frar war grwardt ararsaardt vgfaat 1 =g & 7a1dt g9idal § uF "qA@uvsTed®
Hradt gfaar £ afgar ad4t A= w1 Tafw w13 3 faggg g a3 0 Aah g a5 a6t afgad Rgaara O
g T8 Frdarfeat ® 1 sraw FAASTiAwT F7 e T gFESOET F w0 qu afywrewr e 1 At & g7 Rafygr @
fFeY wH1T F qTE gEAR T, AfEF T AAAAT AT FT AN Fraw Y grai fF FTarac F o gfrar @ frgra s g
F IR AT FT ST F Fegid gt Ardardt Ta A F7 arATeE M AATTTT FATATAT IH THL F ATLATEY ALITAT A
TgATT AT ATAFTT | 4T FITAT FT AMTAIIIAT FI Q@ &

The early feminist theory ignored among women, the issue of

TR Ardtars % gt & afgara @ fratafaa & @ g F7 awqrs s g aar?

[Question ID = 3621][Question Description = S2_qSNz_PG_GP2_Q46]
1. Enduring commonalities /T aTeT=IaTH

[Option ID = 14481]
2. Significant differences/®gaqol foreramr



[Option ID = 14482]
3. Inclusive factors/@Taeft H1TF

[Option ID = 14483]
4. Oppressive elements/zAFT< T

[Option ID = 14484]

Correct Answer :-
e Enduring commonalities/&aa FATET=ATY
[Option ID = 14481]

2)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective ‘'we' of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle
class women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain
by black and Asian feminists. Such critiques evoked the concepts of 'inter-locking identities' and inter-locking oppressions’.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were
called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most
women around the world and attempted to reposition feminist debate within broader social, economic and cultural
contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the
self-assumed authority of western feminists to speak about or indeed for others was disputed and decentered. Influential
accounts of the tendencies of masculinist imperialist ideological formation to construct a ‘'monolithic Third world' woman’,
discursively constituted as the universal victim of Third world patriarchy, challenged feminists to "unlearn” their privilege
and to deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside
intervention of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars
anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary,
they were enduringly influential in highlighting the questions identity and authority in feminist studies.

A9 fET 1T T FT LATEYAF TF ST T F IR

i Aardardt fRrgia & o+, swy, o+, worrfa stz g 1 ¥ & Afgarst @ o= g fhraarst w7 as<siars 37 gy afgarsi
F THAT AT ATATATTN I T FEIT TIT AT T TAHT (TS THA TALET TE AT ATAATE & AUATES 'F 9 7357 Frewy qor a1
Friaret frgrar 1 srwataarsy, Sregia A7, gegaasfia afgaArs #1 Rafy £1 adt afgarsy a1 Rafy @ far fear a1, w7
ST AR T F @ T v ATy 4 s fRar g AT 7 @7 o< uftrard ardarfiat & sk fRar ww
ararasl 7 Fexatth arzfEfedisr vy exaifer atwaa 1 R=arast &1 afaareT At 98 97T @ afys sfaardt
frgwo s gfrar  ardardt fagrat g fear war sgt fAega & o st S v g 57 sudra=st F g Y sfysta
afgarst & Staq # g5g §F qrarey AarQariEat & fFgwourens siat #1 aard Frawar w1 ST FFRar aoav wtaq s« gt gra
qafdT gy & swros araris, i sk aiegfos daat 3 AR ® arha1dt 989 &1 7T ©arfg 7 w7 9379 a7 1@
AMATTRT 7 ITL - shafrafers Rafy & swarwr w1 ga< fFar, Kad gty ardarfeat  gad # IR § T« 3 g9y
FftrwTe w71 fA<ry sirx =< AT w31 gewardt ararsaardt vgfaat #1 =1 & 79Tt guial § UF HgueTedd
el gfhar #1 g 94t a1 Fafv £33 3 e ag g K3 aar 0F dad a1 ada@t gfeare Rgaar @ e
g =8 Frdarfeat #1 saa fFawrfas #1 e s gfEsifaa # €0 # qu safyse w1 e #F At & g9 Rafagra
FeY wH1I # T1g gEAA T, NfEgF AT USAA AT AT FT AT R Y grai fF FTara F s gfrar @ Fgra s gyt
8 R 17 F1 St 4 Rregia et ardarat asEfy ®1 searamiors sk Saaraeqs a1 AT 9 THIX B Araa7aT SAeqg=1 1
TEAT ST ATHHT & d T qa71AT FT ATTATT STTIT FI @ o

Initially, the feminist theory veered around the problems of

Aty ®# ariard Rrgia Mefafaa & @ raaaeara E A gagran?

[Question ID = 3622][Question Description = S2_qSNz_PG_GP2_Q47]
1. Feminists around the world/f& 9% % ardaTar

[Option ID = 14485]
2. North-American middle class white women/3<¥T i TT & Teaw 937 i1 s4q Afgend

[Option ID = 14486]
3. Blacks and Latinos/3r#ad i ATdI=T Tigar

[Option ID = 14487]
4. Identified women groups in different places/f&r= - forer vyt ww frfema wizgear g



[Option ID = 14488]

Correct Answer :-
e Feminists around the world/fa#T «% & ATdaTST
[Option ID = 14485]

3)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective ‘we' of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle
class women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain
by black and Asian feminists. Such critiques evoked the concepts of 'inter-locking identities' and inter-locking oppressions'.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were
called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most
women around the world and attempted to reposition feminist debate within broader social, economic and cultural
contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the
self-assumed authority of western feminists to speak about or indeed for others was disputed and decentered. Influential
accounts of the tendencies of masculinist imperialist ideological formation to construct a ‘'monolithic Third world’' woman’,
discursively constituted as the universal victim of Third world patriarchy, challenged feminists to "unlearn” their privilege
and to deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside
intervention of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars
anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary,
they were enduringly influential in highlighting the questions identity and authority in feminist studies.

A9 frg g ety #7 eAEYAF 9F ;T AT B IR

i Aardrardt frgia & o+, swy, g, yorrfa stz g #1 gt & afgarst @ = 75 fhraarstt w1 as<siars #3107 gy afgarsi
B THT AT ATATAQTE I T T TAT AT T 3HHT srqasi s THfa L T OE IV A8 F U fes g7 7 w57 fyrgw o w77
Ardaret frgial #F srwataarst, Rregia A, gegaasfia afgarst 1 Rafy £1 a4t afgarsy % Rafy @ frar ez a1, w7
ST AR FewT A rda T AT Arharfeat & AT fFar g AT 7 ;A o< wforars ardrarfaat & sk fvar vd
waraRT T FeratthT arzfEfeder v exmifem ateaa 7 Rr=amarost w1 afyarew fFar 9@ d9faa @ afys afyardt
g st gaT @ I gt g Far war et fega g e e #Y wiv g 39 swAr=wwt F gihar v s
afgarel & Sta7 @ G99 & qrared ArAATieat 3 g vorens st FF A" a7 F1 ST FRAT AT It S” gt gra
aufda gy & saras ararhs, arfds sk aregfos daat 3 s & arha1dt 989 w1 ¢ arfrg 30 w71 9719 a7 @
AR 7 ST - shafra fars Ruafy & swarswr w1 ga< frar, fad afygd ardarfaat 3 gad # IR / 99 3 eq9fyg
FfAFTT FT FATry s FR=haeo fFar war gewardt ararsaardt vgfaat #1 A= & y9Tdt gaial # UF "qEveTea®
et gfrar #1 afgar ad4t A= w1 Fafw @ 2 o ag a8 fTar 3t F aah g 6 ad@t ageare Ogaar a Ofea
g TTH AraTieat F7 aqa A arierwT w v e st giEstaat @ v F auw afase st s #1 A 59 RafuAr |
TFET THITF 7 ZEADT, ATTE® AT AAATIH FGAT BT LATAT (0] A07T greai {6 Fraiac & dra < g & fogra s gfEsot
& R AT &1 g T Rregia dqel ardarat asEfy &1 saarariors sk aaraeqs a1 AT 7/ TR D ArAaTaT STeqa=1 A1
TEITT T AfUHTR & T frg GaTeAt HT AMTATT SHATALT FT G &

The analytical frameworks of western feminists were critiqued by Third world scholars as:

Tt ATarfat # fAgwurens tat #1 qwrAr A gfrar d gt g Fa s A Fr O ?

[Question ID = 3623][Question Description = S2_qSNz_PG_GP2_Q48]
1. they had different societal agendas/f¥rsr - f3rer wraTST Haeft Frdsrw

[Option ID = 14489]
2. radical and irrelevant/srfaaT=T i st =7 &

[Option ID = 14490]
3. they had to be repositioned in different contexts/faf¥rs sawf # " Fe & forw

[Option ID = 14491]
4. they had to fit in a discursive discourse/fFa=hsfier Ja== & A7

[Option ID = 14492]

Correct Answer :-
e they had different societal agendas/fsrr - for=r TaTer weef Frdam



[Option ID = 14489]

4)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective ‘we’ of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle
class women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain
by black and Asian feminists. Such critiques evoked the concepts of 'inter-locking identities' and inter-locking oppressions’.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were
called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most
women around the world and attempted to reposition feminist debate within broader social, economic and cultural
contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the
self-assumed authority of western feminists to speak about or indeed for others was disputed and decentered. Influential
accounts of the tendencies of masculinist imperialist ideological formation to construct a 'monolithic Third world' woman’,
discursively constituted as the universal victim of Third world patriarchy, challenged feminists to "unlearn” their privilege
and to deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside
intervention of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars
anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary,
they were enduringly influential in highlighting the questions identity and authority in feminist studies.

A9 frg g ety #7 eAEYEF 9F hT A 99D

w3 Aardardt frgia & a¥f, swy, g+, yorrfa stz g #1 gt & afgarst @ = 75 fhraarst w1 as<siars #3d gy afgarsn
F THT R TATAQTEN I T fXIT TIT AT T 3AHT srqasi s THfa L T M€ IV A8 * AU fes ‘g9 9 9957 fyew o w77
ardaret frgial #F srwataarst, Rregia A, gegaasfia afgarat #1 Rafy £1 a4t afgarsy a Rafy @ frar fezr a1, w7
ST ARFewHT A oda T AT Arh et & AT fFaT g AT 7 ;A o< wforars ardrarfaat & s fvar va
AerTRT ¥ FEXatthT arrfEfedtsr @y exmifem ateaa Y Rr=amearost st afaarew frar 9@ d9fya @ afas sfyard
g st gFaT @ I fagrat g Far war sret frega g e et #Y wiv g 39 swAr=awt F AT v s
AT & a7 # a9 § qraTed ArQariEq’ & G wurens it F 1 A9rg (rawar w7 SATCL /AT qAT A7 &€ FAgr=1 g1
gufiq fAgvw & sras amaris, i st ategfos daat 3 R § ardardt aga &1 ¢ eq1fya $@ F19319 5771 W@
AR 7 ST - safra fars Rafy & srarswr w1 ga< frar, fad afgd ardarfaat # gad # aR § 9faq 3 eg9fyg
FfrFTe w1 fadry st FR=hsco fFar war gewardt ararsaardt vyt #1 =73 & 79Tdt gaial # UF "qQveTe®
Hradt gfaar #1 afgar ad4t A= w1 Fafw @ 2 fgag g2 fTar 3t 05 aah g 6 a6t afgae Ogaar o O
g TR Fraarfeay ®1 sraw FAASriaw F7 e f fEShEE # w0/ g afyFre sy g 7 gArdt g7 Rafyzy @
et THTTF g gEAQT, FTEF AT AOFAAF Faar F1 AT fFad it grartF srarae d ad gfhar 2 g s gt
AT AT IgF F I aqef arrardt T ifa F7 srsarariOrF hT AT TH FATATAT TF GBI D ATAATE req 7y 41
TEAT ST AR & o gaTAT FT AMTATT SATC HI @ 2

Post-colonial, western feminists were asked to

IT - sirofa fares arsrrer ArdaTieat ) 9471 ST AT ?

[Question ID = 3624][Question Description = S2_qSNz_PG_GP2_Q49]
1. Free themselves from masculinist ideologies/T&uaTt fRrgidt & Tad & q<h FA & forg

[Option ID = 14493]
2. Disengage themselves from the idea of 'Third world woman'./¥a% 1 et gfFaT #it wfgersit & srenT #v & foru

[Option ID = 14494]
3. Challenge the Third world patriarchy/=TE<T gH=T 7 frqaTerear %1 FAIdT 37 & o

[Option ID = 14495]
4. Deconstruct their status as intellectuals/FfEsfET & = # st Rafy v qam #v7 & oy

[Option ID = 14496]

Correct Answer :-

® Free themselves from masculinist ideologies/T=uaTat fRraidl & T F1 T Fe7 & forw
[Option ID = 14493]

5)

Read the given passage and answer the questions that follow



Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective 'we' of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle
class women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain
by black and Asian feminists. Such critiques evoked the concepts of 'inter-locking identities' and inter-locking oppressions'.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were
called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most
women around the world and attempted to reposition feminist debate within broader social, economic and cultural
contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the
self-assumed authority of western feminists to speak about or indeed for others was disputed and decentered. Influential
accounts of the tendencies of masculinist imperialist ideological formation to construct a 'monolithic Third world' woman’,
discursively constituted as the universal victim of Third world patriarchy, challenged feminists to "unlearn” their privilege
and to deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside
intervention of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars
anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary,
they were enduringly influential in highlighting the questions identity and authority in feminist studies.

Fr= YT T AT FT AL 98 AT TWT F SR ¢

T Aardtardt fgia & a9, Ay, g9, TNy A< g #1 g @ Afgara & = gl thrwarei #7 a9<sta w9 g afgAra
P IAT T ATATAATA I TA [IATAAT AT T AT AUTS 6 THIT €T ZT TS T ATHATE F TLIRH TH 4T T ™27 q97 747
arfardt fagiat 1 sroataarsn, Sregia |q, segaaifta afgarst €1 Rafy w7 ad afgars & Rafy @ frar fagr a1, =1
I AR fwT § srda T Ard =T ArQarfeat 4 ST fRaT agr A ® wAq T uferars ardarfeat & sz frar 0@
AMATTRT 7 FTATHT argfEfeds srv il atuera &1 FamaTrst 1 awfaures frar soa a5faT i afys afyard
gy st gfar & I fagrat g fFar A sgt faega & e e Y wiv g g9 swAr=wwt F giAar 1 aferwia
Afgarst & Sta= 3 g5 § qrared araarf¥a’ ® G wurens giat F1 A9rh rwar w1 SATCL FFHAT qAT AT A7 FAGrTAT FOXC
aufda Rguo # =ros arathrs, afds s aiegios a9t $ AR & Frhard 989 ®1 g e qriva $39 F7I9979 a7 07
AraraHl 7 I - dAafAafars fRafa & srarsy #1 ga< 5, [Hrad oy ardarfeat & @@  anr § 9 @ @9y
afers w71 fary stz AR =hacor frar war gevardt ararsaardt wgfaat #1 A= & y9ret gaial # uF "qEveTeHd
et gfaar £ afgar ad4t A w1 Fafw w1 3 faggg g a3 05 Aah g a5 gt afgad Rgaara O
g T8 Frdarfeat ® 1 sraw FAASTiAST F1 e T gFESOET F w0 F qu afywrewr S 7 gArdt & g7 Ryfygy @
fFeY wH1I F T gEAR T, IfEF T ATAAT AT FT AT Fraw At grai fF Frarac F o gfrar @ rgra s g
F IR AT FT ST F FHegid dqet Ardardt Ta Ay F7 arHTeE HT AATTTT FATATAT TH THT F ATLATEY ALITAT A
TATT M ATHFTT | 4T FITAT FT AMTAIIIATI FI Q@ &

The passage speaks of

7g et frad dafaa g ?

[Question ID = 3625][Question Description = S2_qSNz_PG_GP2_Q50]
1. Identity issues in feminist studies/aTEaTaT sreaa=i § Tg=Te dael g2

[Option ID = 14497]
2. Authority of western feminist scholars/™T=ITer ATEETET AT FT ITTEEFT

[Option ID = 14498]
3. Experience of Third world feminists/dTaT 3T & AATRAT T AT

[Option ID = 14499]
4. ldeological constructs all over the world/ Tt == # = A=t

[Option ID = 14500]

Correct Answer :-

o |dentity issues in feminist studies/aTIaTaY sreaaat | g= dael g2
[Option ID = 14497]





